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No.

Questions

1.

Cross elasticity is defined as :

(1) Percentage change in demand for X commodity due to percentage
" change in income from Y commodity

(2) Percentage change in demand of A consumer due to peréenteige

change in income of B consumer

(3) Percentage change in demand for X commodity due to percentage
| change in price of Y commodity. |
(4) Percentage change in demand for X commodity due to percentage |

change in price of X commodity.
s %1 R o o
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The problem of scarcity and choice can be fouhd in the definition by :

(1) Alfred Marshall {2) Lionel Robbins

(3) J.A. Schumpeter - (4) Adam Smith .
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If the utility can not be measured in numbers, it is called
(1) Ordinal utility
(2) Cardinal utility

| ‘(3) Ordinary utility

(4) Optimum utility .
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Consumer surplus can be defined as .

(1) Difference of marginal utility and price
| (2) Difference of marginal utility and total utility

| (3} Difference of marginal utility and average utility

(4) All of the above
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5.

A consumer is in equilibrium where

M)
@
)
@

The indifference curve is tangent to the price line
The indifference curve is convex to the origin
Both (1) and (2)

None of the above ‘

0
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In case of the inferior goods, for a fall in price

@)

@

@)

@

The price effect is negative due to negative income effect
The price effect 1s positive due to positive income effect

The price effect is negative due to negative substitttion effect

The price effect is positive as positive substztutlon effect is hlgher

than the negative income effect
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. 7. The areahbetween the ridge lines show '

(1) Positive marginal productivity of both the factors
@ Negative marginal productivity of both the factors
(3) Negative marginal productivity of factor on Y-axis

(4) Negative marginal product1v1ty of factor on X-axis

'ﬁﬁi@eﬁ%ﬁﬂ‘ﬂﬁﬁﬁ
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8 In the long run, the returns to scale are increasing because

(i) Thé production is experiencing_o'nly theéconomies of scale
(2) The pi*oduction is experiencing only the diseconomies of scale

3) The economies of scale are higher than the diseconomies of scale

(4) The diseconomies of scale are higher than the economles of scale.
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9.

According to the traditional theory of cost, which of the following is not
true :

(1) Average cost curve is always U-shaped
(2) Marginal cost curve is always U-shaped
(3) Marginal cost curve is always upward sloping

(4) At the minimum average cost, average cost is equal to the marginal
~ cost ; |
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10.

The L-shaped cost curve is also known as: -
(1) Lerner curve (2) Smith curve -

(38) Schumpeter curve (4) Kuznet curve
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1‘1;

Which of the following is true

(1) Total revenueis maximumlwhen average revenue is -maximﬁm
.(2) Total revenue is maximum when marginal revenue is maximum
(3) - Total revenue is maximum when average revenue is minimum
(4.)‘ Total revenue is maximum when marginal revenue is zero

T Ry Fo & Y B w9 7
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12,

At the break- -even point ;

{. (1) The firm is incurring losses but average revenue is greater than the

average variable cost .

(2) The firm is incurring losses but average revenue is jusfequal tothe |
" the average variable cost |

(3) The firm is incurring losses but average revenue is lower than the

average variable cost

(4) The firm is getting just equal to its total cost

-4 g R
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-1 13.

Which of the following is not a feature of perfect competition ?
(1) Perfect knowledge (2) Perfect mobility
(3) Infinite number of buyers - (4)  Selling cost

| Prefefiem & % g o gw @ o o2

Q) f ™ _ 2 9 TR
(3) e o T 4) B ara

14.

Which of the following is not true under perfect competition ?
o)) The firm is prlce taker | |
(2) Industry is price i maker

(3)  The firm can bear losses in the short term

' (4) The firm always enjoy supernormal profits in the long run

ﬁmﬁf@aﬁﬁ%—wmmgﬁgﬂaﬁ%ﬁﬁaaﬁﬂﬁ%?
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15.

T B P B § ol

Under the price discrimination of the first degree -

(1) Whole of the consumer surplus is taken by the monopohst

(2) Only the marginal units of each group have zero consumer surplus

(3) The market is divided on basis of elastlc:lty of demand
(4) All of the above '

-y
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16.. | Monopoly power is defined as
(1) (AR-MR)YAR @ 1-ARMR
(8) MRMC 4 MCMR

wmmsﬁﬁr%w%mﬁwﬁaﬁwgwa%?
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17,

Excess capamty shows:

(1) The difference of actual output and equilibrium output

(2) Difference of minimum and maximum output

(3) Difference of equilibrium output and minimum cost output

(4) None of the above.
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18

A kink in demand curve under oligopoly shows that
(1) Demand is more elastic for a rise in price

(2) Demand is less elagtic for 4 fall in price

(3) Both (1) and (2)

(4) Neither (1) nor (2)

st # dtear (RoeR) 7iT o Fr awter ¥ 2
(1) #P & qo & T 3 T dolr €
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@ TaQTEH @

119,

Asymmetric information refers to a situation when

"(1') Nobody has the perfect information

(2) Everybody has the perfect information',
(3) One party has the greater information than the other

(4) Noinformation at all
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20. The innovation theory of profit was given by

{ (1) Hall and Hitch (2) Marshall
(3) Cournot (4) Schumpeter
| S TAER R B Y R e -
(1) 8 oK R 3 @ Tdwa
() @63 @ g
i 21. =The concept of real per capita income means that

(1) Per capita incoine has been adjusted to the inflation rate
(@) Per capita income minus taxes
(3) Per capita income minus depreciation

(4) Net profits of the prodl_.tctioﬁ sector

ST ST AR S B smERon Ay o B B

» nﬁra{ﬁﬁmﬁﬁmmﬁmmmwmw%
@) 5 @R et § & o wer Ry
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22, | Nationalincome is also known as

o (1) GDP at market prices (2) GNP at market f)rices
(3) GNP af factor prices (4) NNP at factor prices
TR et @t 78 < e o 3
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- 23.

Iﬁ an economy the value of multiplier is higher if
(1) Propensity to save is higher

(2) Propensity to invest is higher :

(3) Propensity to consume is higher

(4) All of the above

Bl ot avelereren P B g ARG BT § 9T
(1) =@ & vgha o @
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(@) T & ek o A

(4) JuER @l

. 924,

The MPC is equal to APC, if

(1) The MPC is constant

@) APCisat its minimum

(3) APCisatits maximum

(4) MPCis at its maximum |
Sud 1 gt sgRy Swi @ oed WeRT & aER Bkl 8 R
- T 3 R R R ¥
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25,

Autonomous investment means

(1) An 1nvestment whlch grows automatically

(2) An 1nvestment Whlch grows along with income

3) An 1nvestment whlch 18 independent of income

4) An investment Whlch is 1ndepondent, of rate of interest

EEiirT A @ ot R

(1) T FRST S ey e ¥
@ R o & T g b
| ® -&mﬁ%&r@rmﬁﬁgﬁ%
| @ TR S e g b

| 26.

{ (1) Household income

(2) Household consumption expenditure

3 Government expenditure .

(49 Investment expenditure

O R o # @ g o §
| ® wwmtats @ Mg

) 'The unemployment allowance by the goyernment 1s counted in :
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27.

The interest payments on foreign loans are counted in:

(1) Balance of payments on current account |

(2) Balance of paymezﬁts on capital account

(3) Both (1) and (2)

(4) Neither (1) nor (2)

RN T X W A orerr B P @ o B 7

() TGOS Wd (2 Gl od s gam dw d -
() (1) 7 (2) (9 TIAQ)TEQ

28,

The effective demand necessarily refers to

(1) Actual demand

(2) Desired demand

(3) Aggregate demand just equal to aggregate supply
(4) Demaﬁd at the level of full employment.

U9 AR5 ROT @ aR% 3U S & 7

(1) ST A
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29-

IEMPC = MPS, then the value of multiplier is

(1) Zero o (2) One

@) Two | (4) Infinite |
IR STHNT B Wi wgR F= @ G vaf B e & @ TR # I
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30,

An increase in tax may lead to
(1) A ri;ghtward shift in LM curve
@) Aleftward shift in LM curve
3 Alefoward shiftin IS curve
(4)- Arightward shift in both IS and LM curve

| &% % e A

1) LME{EEEFQ‘ TG e o ¥

@ LM% € o Raas o 2
) IS %% % TE Raad o

(4) ISR LM AW & o & avw e o &

31.

_ quitiV-é net exports lead to

(1) A rightWard shift in aggregate supp;ly

@) Aleftward shift in aggregate supply

(3) Arightward shift in aggregate demand -

4) Aleftward shifﬁ in aggregate demand

Py Fraftr & oo qeielt &

(1) 9 qfF <€ T Raws o R
@ T W T T R w2
(3) T AT G T e T B
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| - 32. Ifthe total receipts are less than the total expenditufe ofthe governmerit,
the deficit is called
| (1) Fiscal deficit (2) Budget deficit
(3) Revenue deficit (4) Income deficit -
wmwﬂﬁﬁmmﬂaﬁ%maamﬁﬁwzﬁrw%? -
(1) TorBNE =T - (2) 9§ e
(3) T mer (4) SRS Hrer
| . 83. The value of multiplier can be found by :

(1) Changein investment/change in income
@ 1/(1-MPC)

3 UMPC

(4). 1/(1-MPS)

o B e R i g @ A e @ 7
(1) FEg 7 qedd ot & gl

Q) 11— STET @ dwig wh)
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@ V(- F99 @ d k)
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| Inthe Short,peri_od the aggregate supply curve

(1) Canbe shifted to the rightward direction with help of the fixed factors
only ’

(2) Can be shifted to the rightward direction with help of the {*rariable
factors only

(8 Canbe shlfted to the rightward direction with help of both the fixed
 and the variable factors

1@ Clan not be shifted at all
| 9% o

(&) WWWWE{%WW?{@@T@WWW%

%) ﬁfq%qﬁaﬁwaﬁawaﬁﬁrwmmémi@wmmm%

@) W@Tqﬁaﬁwaﬁaaﬁwwﬁwmmﬁmm@mm%
@ T & & Rewerar o1 v

- 85,

_ ’.I‘I;J._e intersection of aggregate supply and aggregate demand shows

(1) Full employment

) Equilibi'ium of the market
(3) Equilibrium of a firm

(4) | Effective demand

AT SR B G b R a ayi ¥ 7

@ wf dw (@) T T g
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736,

In the theory of liquidity preference, the passive balances refer to

(1) Specilative demand for money

(2) Transaction demand for money

(8) Precautionary demand for money

4) Both(2)and ()

ESUIRIC CREE I B RIS Co S N A
(1) T R el 7T @ .
@ A D Ry B R’ g7 A A B

@) R ww & e g A

@ @9k @

- 37.

Samuelson’s business cycles are hased on
(1) The interaction of multiplier and accelerator
(2) Interaction of demand and supply

(3) Elasticity of demand and supply

(4) Interaction of government expenditure and revenue-

VI B AT Wb B 1A W auie o ¥ 7
() T S &R @ st

@ i ol o W i
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38, The dirty floating refers to |
| ” @) D‘epreciation or appreciation of currency
(2" Devaluation or revaluation of currency
3) Illegal exchange of currency
(4) None of the above
Rl o @ ol 2
(1) & P T W A GO A o
@) w D 5@ F Pee a1 s B
| @) T F T S ¥ R s
| @ ST A A B

‘ 39. The theory of compa1 ative advantage is originally named after
| s (@ Bo Sodersten

"(3)' Heckscher and Ohlin (4) Edgeworth

qETTe W A R g Wwﬁww%?

O % . @ e
® BRI & aﬁgﬁﬂ @) wEy
' 40 | The incidence of an 1nd1rect tax fallson
¢h) Producer : (2) Consumer
(9 Wholesaler' (@ Retailer
ST F F IR ¥ T g & 7
I S
®) % fmar w @ T B W
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“ 41. Which of the following is not a component of vicious cycle from demand
' side

(1) Income (2) Savings
(3) Investment | (4) Employment
ﬁwﬁ%@aﬁﬁaﬁﬁm@mmw%wmmwm?
(1) S @ T
@) Few | 4) TR

42, 'Aécording ttl) most of the theories, fall in share of employlﬁentin agﬁcultﬁ_re -

indicates

(1) Crisisin agriculture

(2) Structural shifts related to development of the economy’

(3) Mass unemployment

(4) Mass rural poverty

e % SgeR R @ oA a8 e @ R Ry @ o ¥
() @l # Hbe F e

(@) oo & e @ TR sEmE qadet B A
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.43, | Which of the folllovsfing'is not a component of human developmenﬁ index
1) }Knowuledge (2) Life expectancy
@) -Ipfaﬁt mortality - (4 Standard ofliving
i & @ SN-91 R AMa e g & o aE § -
lo ™ - (@ voRe S o
(@) RygTgw - @) S 'R
44 | 'Hﬁman development index was first formulated in
@ 10 . © 197
(3) 1965 o @ 1995
A R e TR e R A & gl R A ?
1@ 190 @ 1970
1@ 195 - @ 199
| 45 | For international comparison which of thé following is considered a better

| measure -
(1) Comparing per capita incomes in US$ terms

" (2) Comparing national incémes in US$ terms

(3) Comparing the governmenf debt in PPP$ terms

| (4) Comparing the per capita incomes in PPP§ terms

| mﬁﬂw%mfﬁﬂmﬂaﬁ%w( T e § 7

() e IR F oy @Re qmeh @ gee we

| @ o 3 ¥ Ut omee  gEE we

| @ @lE g oo at Sfer § Jewl w0 @ e B

| @ @l ofts @ AR S o e A @ g w
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46 The Unbalanced Gl'owth Theory was given by
(1) Rosenstein Rodan (2) Hitschman
(3)~‘ Lewis | (4) Harrod and Domar'
i fe T RIS P & R 2 7
1) (RN T @) &N
@ A @ s avaw
47. | Why the balanced growth is required in thé underdeveloﬁed economies ?

(1) Due to.indivisibilities in production

(2) Due toindivisibilities in demand

(3) Due to indivisibilities in supply of savings
(4) All of'the above _ )
Wﬁiﬁﬁﬁaﬁaweﬂ%ﬁam%mﬂ@mmﬁaﬁmq@eﬁ%?
(1) T ¥ SRt $ aRe

52) T H SHferoerel. & o

(3) aaaﬁg%ﬁaﬁwwaﬁ%w
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4s.

According to Lewis, the wages in the modern sector are

(1) Just equal to that of the traditional sector
1 @ Greater by 80-35 per cent of the wages prevalhng in the tradltlonal

sector

o (8) Greater by 50 80 per cent of the wages prevailing in the traditional |

sect01

4 Greater by 10-15 per cent of the wages prevailing in the traditional
sector

-aﬁe%aﬁweﬂgﬁasaafmag&aﬁa?
o AR & A WS R e ad

@ Wﬁe%aa%mgﬁa%neaossqﬁsmeﬁeeﬁ%
@ Wﬁe%ﬁﬁﬁg&ﬂ%ﬁ%{soewﬁeﬁaﬁe@ﬁ%

- | @ Wﬁeaﬁaﬁwﬁaﬁﬂﬁ 10°15 SR s 2 2

49, |

.The concept of disgulsed unemployed refers to the workers
o (1) Who are voluntarily unemployed

1 (2) Who are involuntarily unemployed

' ‘(.3) Who cid not add to total demand

(49) Who do not add to total productlon

@@Wﬁwqﬁﬁwﬁﬁwﬁmﬁ%?
@ 1 % sfew ww ¥ Roww oy & |

@) % ofiRed w1 § Rww Oy

6) S R g i 3 A o e
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50.

Below the critical minimum effort

(1) Spread effects are greater than the backwash effects

(2) Backwash effects are greater than the spread effects

(35 Negaﬁve externalities are lower than the positive externalities |
(4) There is too much government interferénce

TR T T S T R

1) @ THE SR aEE S 92 8 ¥

@ ot o G o § 93 AR 2

(3) TR AR EHE e @ B el §

(4) TN EWEY TG SR B @ |

| 5L

When a market failure occurs due to the reason that the user of the
public resources do not pay for them, its 'cal_led |

(1) The problem of market structures
(2) r1‘-he problem of fiscal deficit |
(3) The free rider problem

(4) The hijacker problem

"o gt 5w R R S ¥ i Rl wEw @ @ SRAE A AW %
BRI SE I T 21 fopar St o 30 ;0 FE T e

(1) " & I P e @ T AR )

@) FEE @ aner (4) TE-UR B qEE
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| 59,

' (3) Tt has become outdated (4) Itisno longer in use in the economy
() SE it B o s

Code-A
Question Questions
: NO&
A resource is called a renewable resource if

‘(1) Itcan be replenished (2) Itcan not be reused
ﬁ?&ﬁﬂtww@rﬁzﬁwﬁqwmwmm%w | )
,(2)._ I A IR T BT o 6

() S W B e § B e W @

(58

| Sustainable development refers to

'(2) A growth without government assistance for present generatlon at

X6 'aeqmeeeewemawee

(1) A constant rate of growth for present generation

- the. cost of future generatmn N

(3) Hzgher growth for future generation at the sacrifice of needs of the
present generatlon

(4) A growth in present times without sacmﬁcmg the needs of the future

_ gener‘atlon

@) s & e % arw O ﬁmmaﬁw%maﬁﬂéww

@) T W A T F @ Y R T A R G S R
é@areﬂf@i?eﬁwar |

@ aoeeoeoweemeemmeeaﬁwwem
: ﬁlfﬁre‘c:r

PG—EE-2022 (Econonncs) Code-A

(24)

m

P




Set-X

(1) Rio 2000 (@ Rio2010

) Rio2012 4 Rio2015 |

T PR 6 HYR T W S B o Rew W 9 s R 7
(1) fRar2000 : @) Rt 2010

@ RAr2012 W Rar 2015

Code-A
Qe;stion Questions |
0. |
54.

The UN conference on sustainable development is also known as

55. The Brundtland Commission Report referred to |
(1) Industrial development ®) 'Agriculi;ural development
(3) Sustainable development (4) Trade and development
sredie e o RO R & b 3 ?
(1) e e @ @ W w R
(3) R e @ (4)waﬂtﬁw€f
b6, When national income accounts incorporate the- env1ronment cost and

natural resources, it is termed as
(1) Social accounting (2) Grey accounting -

(3) Sustainable accounting (4) Green eccounting

mmmﬁwﬁmﬁwﬁmwwﬁmmw
%, @ 30 1 Fel o & ?

1) W () W« e
(8) T AT (4) =Ra q@iET
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o thelr impact on the natural env1ronment is called

§ (1) Global enwronment
R E (3) Soclal responmbﬂity @ None of the above
- .WW%W%WW@%@W%WWH#WW@

Code-A
Qu;iv‘:ion Qu'esfions
o 57 | The exivironment-Kuznet curve is
L | @ U.-'shap_e'd (2) Upward sloping
o :‘(3) Downward sloping - (4) Inverted U-shaped
| T D et 7 SR ) AT B 7
o aﬁvﬂw%gw 2) S B TE TEA g
| (3);ﬁ%rﬁmﬁwgeﬂ (@eiﬁvﬁw%iWW
58,

The recognition of the close link. between an organisation’s decisions and

(2) ' Greening of management

Hﬁvmzﬁrwwﬁmw%? |
M P wr (g ST A ERE ()
© e Pried @ IR ¥ Y B A

89, -

Whlch of the followmg phenomenon is assocmted with global Warmmg

Sy Southern oscillations @ El Nino
] ® LaNina | (4) El Nino Modoki
7'f',ﬁmmafraeawm%mwamma%?
..(1) g % SR-geE @ @ HN
| _(3)-an=ﬁm' (@ T AR A

. PG-EE-2022 (Economics) CodeA
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Question| . | . Questions |
" No. :
60. | When did the Forest Conservation Act came in to force in India
(1) 25 October, 1986 (2) - 25 October, 1980
| (8 250ctober,1972 - ° (4 25 October, 1990 |

A § o weer i w9 ) gen ?

(1) 25T, 1986 - (2) 259WEK 1980
(3) 25 IRHET, 1972 (4) 25 I, 1990
61, | Which plan is known as Mahalanobis plan

(1) Firstplan (2) Second plan |

I (8) Fourthplan (4 Eighthplan =
Rl Ao ) T A A @ A R ST # 7
o @ @A
(3) =t A (@) edi qeE

8. | The mitiation of Blue Revolubion 1s related with

(1) Third plan | () Fifthplan

(3) Seventhplan (4) Ninthplan
e iRy e R A QT ¥?
(D) el Ao @ .qiaéﬁ Ao
(3) awdt Ao (4) T A

PG}EE-zozz (Economics) Code-A.
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N Questions
Ol

"63. | Which periéd is termed as the ‘Plan Holiday’ ?

| (D) 1947-50 | (2) 1966-69

3 1990-92 4) 2017 onwards )
| R e B A e o S 7

(1) 194750 @) 1966-69

(3 1990~§3_.2 '(4) 2017 % 9 1 gy

| 64. .| When did Niti Aayog came in to force ?

(_1) 2010 @ 2015
(3) 2017 @ 2014
A ST 3 5§ @ T g o 7

@ 2010 | @ 2015
®) 2017 4) 2014

 65. ' | Which plan was launched with the slogan of ‘Garibi Hatao’

(i) Third plan ~ (2) Fifth plan

(35 S'even£h plan @) Ninth plan

BT @A TR Tl 3 TR B W A 2
(1_) dral Ao (2) W A

© W o @ 3 T

o .'PG.'-'EE—.ZO'% (Economies):Code-A
- ' : ' (28)
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QuI(:IStIOH Questions
0.

66. | Which of the following had the highest population density in Census, 2011 |

(1) Delhi (2) Maharashtra -
(3) West Bengal (4) Uttar Pradesh |
2011 Bl SIFPMT ¥ 68 U0 & SHEAT Tol T S o 7
(1) e | (2) T
(3) e (4) TR WT

. 67. Sex ratio refers to o

(1) Proportion of females in total population

(2) Number of females per thousand of population

(3) Number of femalgs per thousand of males

(4) Number of males per thousand of females

e o & oY @

(1) o SEe q el & o

2) U sR sden & 4w R @ e

@) ¥ e9R Wi & e el @l FER

@) uRr e9) Redl & 9 Rl A Rl

68. The Census 2011 was the __ National Census Survey conducted by the

Census Organisation of India.

(1) 7th . (2) 15th
_(3) 10th - (4) 1lth
2011 ! SFIVF, AT SORT E57 H B ° TR ST GaE0T S
or ?
(1) g () dssdl
(3) =i 4) TREal

' PG-EE-2022 (Economics) Code-A

(29)




Set—X
Code-A

No.

1Question| -

Questions

69,

'Demograp_hic dividend means
(1) More of the males than the females
(2) More of the elderly than children

(3) More of the working age population than the dependent population
(4 More of the adults than children

| aﬁrﬁsﬁqwarmwmf%?

(1) =Tt den dRat § s an
(2) 3¢ W B 9= uEy Py
B BT T B PR A A s fe
(4) e W T o=t § sy Ay

’{0. The demographic dividend window of India will be closed on
) 2022 - (2) 2050
(3) 2055 (4} 2030
Wﬂ%wﬁﬁamﬂi@@ﬁzﬁawaﬁaﬁﬁw% ?
(1 2022 ' (2) 2050
| G 205 (@ 2030
[ 71 In India the Planning Commission used to define the poverty line, mainly

on basis of

| (1) Nutritional requirémenté

(2) Per capita income

(3) Monthly per capita consumption expenditure

(4) Employment earnings
Wwﬁwmwﬁaﬁ%@@rg@ﬁ:ﬁ;ﬂeﬂmwwﬂﬁamm?-
(1) I & B oner oy

@) nﬁfaﬁs\mﬂ:ﬁ%eﬂ&rﬂw

3) nﬁraﬁﬁwwﬂv@é%eﬂmw

@) mﬁmm%aﬂww

. PG-EE-2022 (Economics) Code-A
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~ No.

Questions

72.

When was MGNREGA launched in India ?
(1) February, 20056 ' (2) Februéry, 2006
(3) February, 2004 (4) February, 2014
qRE § F g g R T ?

Head, 2005 @ wad, 2006
(3) WA, 2004 (4) T, 2014

73.

The unemployment rate refers to

(1) Proportion of unemployed in total population

(2) Proportion of unemployed in total work force
(3) Proportion of uﬁemployéd in total labour force
(4) Ratio of unemployed to employed

ST ) e B

(1) %o SHge 3 e & g

(2) W FEEA § O B OSGI

(3) BT T A I & AT

(4) FF TEFI AR VIR A< 7 HT ST

4.

During thg last many labour force surveys, which state has the largest
unemployment rate among all the age groups ?
(1) Nagaland (2). Kerala

1 (8) West Bengal (4) Punjab

Wﬁwﬁwﬁwmﬁﬁ%émﬁmﬁﬁﬁmﬁ B
oI # 7 | |
(1) AmRE. @) W
8) U= U ‘ 4) e
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Question
No. ‘

Questions

! 75.

| The nutrition based poverty line for rural areas refers to the calories

consumption less than

_.‘(1)' 2400 calories ‘ (2) 2100 c‘alories

(3) 3500 calories ' (4) 1800 calories

A T T S R 9 3 T T B S B v 3 43|
ST St & 7

(1) 2400 Fr 2) 2100 s
(3) 3500 e 4) 1800 Fris

Who is known as the father of Indian green revolution ?
(1) Jawahar Lal Nehru (2) Swami Vivekanand
(3) M.S.Swaminathan (4) N.E.Borlaug

S B it 1 R Reeen e oo & 7

1) EEE BE @) A CECREE

(3) . TH. WHNRM @ w. g e

KA

Initially the green revolution was concentrated in the states

1 Q) Punjéb, Haryanaand U.P. (2) Punjab, H.P.and U.P. .

(3) Punjab, Haryana and M.P. (4) Haryana, H.P. and U.P.

OO A X &R iy B T o W o 7 |
1) W, BT AR S R (2) O, Rd R R e Ry

@) oo, BRAET R TRy () e, R Re 6 S Ry
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Questions

78.

Who introduced the Farmers (Empowerment and Protection) Agreement |
on Price Assurance and Farm Servicés Bill, 2020 and Farmers’ Produce
Trade and Commerce (Promotion and Facilitation) Bill, 2020 in the Indian |
Parliament ?

(1) Narendra Modi (2) Narendra Tomar
(8) Kailash Choudhary (4) AmitShah

WW%WWW&W@TW%&MHWWW@T
) TE R, 2ozoeﬁ1ﬁmﬁzﬁm%wwmﬁw(weﬂt
wgiea) @, 20209 R & 7

(1) T A @ Rz dw
(3) ey Aerd | —'(4) T qmE

79.

When agriculture was included in WTO agre.ements_?

(1) 1995 o (2) 2000

(3) 2005 L @ - 20'16
ﬁsammm%wﬁﬁﬁ@?ﬁawﬁwmaﬁmwm?
(1) 1995 | ® 2000

@) 2005 4) 2010

PG-EE-2022 (Economics) Code-A
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Qﬂeéﬁf{n Questions
'-'.NO' )
r 80. | When NABA_RD came in to bemg ?
| . (1) July, 1982 (2) January, 1982
() January, 1985 @ February, 1985
T %9 afe § e ?
(1) T 1982 | () ), 1982
(3) v, 1985 | @ e, 1985
' .81.. If January 1, 1996, was Monday, what day of the week was January 1,
| 1997 ?
| -1 (D) 'Tuesdéy : , (2) Wednesday
| 3) Sunday (4) Friday
S T 1, 1996 I TR & & sy 1 1997 1 % |1 Ry @y ?
(1) Hrear | @) FwER
3) MER | @) R
) 82, How many ﬁmes, the hands of a clock céincide in a day ?
o on © 12 -
(3) 22 4 24
@ﬁwﬁaﬁﬁaﬁgﬁ%ﬁwmﬂm%?

3 2 | 4 24




Question
No.

Questions

83.

Including stoppages the speed of a busis 60 km/hr and excluding stoppages
its speed is 80 km/hr. For how long the bus stops in an hour ?

(1) 20 min. (2 15min.
(3) 10 min. 4 12min.

W~Waﬂ€rwwmwﬁmmmﬁwaﬁwﬁreoﬁsﬁrmaﬁr -
mwwﬁzﬁmﬁﬁsoﬁsiﬂ/wm%lwa@ﬁww%mm‘
e Beeem g e :

(1) 20 e . @) 15fme
@) 10 e @ 12%Fe

84.

A man completes a journey in 5 hours. He completes the first half of thé
journey at a speed of 20 km/hr and the second half at a speed of 25 km/hr.
What is the total journey in km ?

(1) 5.4Km 7(2) 6.4 Km

(8) 2.7Km ' (4) 3.2Km

T Tl T §R 5 el B QX B S| 98 SN WHT o vea onel R

20%51%/&@%%%@%%@@&7%@zsﬁaﬁi/wzﬁwﬁr%tm"

| o 31 9@ o @ A § e @t R onm ?

O s4fed. @ 6.48.M.
(3) 2.7 (4) 3.2 B0,

PG-EE-2022 (Economics) Code-A

(35)




T e e T A, b RS

Set-X
e Code-A
o Qul’%f}fion. Questions
1 8. 1A brother: is"t";vice_ as:.;'élﬁd as'her.'sis.ter. If 10 years ago, the age of the
.brother- was 6 times the'agg of the sister, what is the present age of the
brother.? | |
(1)} 25yrs | I @) 20yrs .
3 15yrs @ ldyrs |
| R O Sl A 9 R e 10 e v o o
T B I B B T 6| 6 w9y 7 Rt ?
| s (@ 209
1 (3) 15@m - 4 149@
- 86, | Léok at thls series 8, 43, .11; 41, _, 39, 17. What number should ﬁ]l. in
the blank ?
[ D 4 @ 8
©) 14 - @ 19
| ¥ o e ¥ wRl e o ;g 4, 11,41, 39,17
e | @ 8
e @ 19
87 4 In a'bag,.'thgre are 8 red, 7 yellow and 6 green balls. If one ball is picked
.| upatrandom, what_ is the probability that it is neither red nor green ¢
W 12 - O © 18
8) 13 @ v |
"| e Ao F 8w, 7%%6@%%:%%@%@%%@%&
RMEMME B T ol aeq s
@ e @ 18
(3 13 @ 17

- PG-EE-2022 (Economics)_Code-A '
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No.

Questions

88,

If-all drink mixes are -beverages; all beverages are drinkable and some |

beverages are red, then which of the following is true ?
(1) All beverages are di'ink. mixes
(2) All mixes are drinkable

(3) All red mixes are drinkable

(4) All of the above

IR 7 97 Frsr 37w g, Hﬁﬁuwﬁtﬂﬁmﬁaﬁrﬁsﬁawéwﬁ |
@ Freffed # & @ Fa dw B 7

1) &R % v, 3 P A ¥
2 R 97 e, 99 9 En R
(8 WX @ fraer N drg B §
(4) IR

89,

A fort haci provision of food for 150 men for 45 days. After 10 dayé, 25
men left the fort. The number of dayé for which the‘remaining food will
last, is

(1) 42days (2) 54 da'js
(3) 37.5 days (4) 47.25days

wﬁﬁﬁmaﬁmﬁ%m%ﬁﬂmﬁmm%wﬁﬁWW%W
REe B8 ¥ T ¢ & 960 99 RfhEl $ R ae G e R e ?

1) 42fH @) 54T
(3) 37.5RF (4) 47.25%k9
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Question

N Questions
0.

90, | Fill the series 2,4, 12, 48, 240, ...

1) 480 - ©@ 720
3) 90 | (4) 1440
| 5 o e qu 2, 4,12, 48, 240, ...
@ 480 ~ @ 720
3) 960 (4) 1440

91. | Apetalis to flower as

(1) Tyre - bicycle | (2) Puppy - dog

3 Salt - pepper - (4) All of the above
aﬁwﬁgﬁwa@at@éa EE

) TR MY @) R @ A
() T = Pl B @) SWEr gd

{92, | Pointing towards a girl, A man said, “She is the daughter of only son of

my grandfather”. How is that man related to the girl ?
(1) Brother (2) Father
(3) Uncle , (4) " Cousin

@@ﬁmssmm@mﬁm‘ﬁﬁw%ﬁﬁﬁ%ﬁéﬁ%’l
A ST T TR B Ry F 7

1. T8 @) Rer
@ = @ WY
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No.
93. On what sum will the difference between the simple and the cbmgoﬁnd
| interest for 3 years at b pe;';:ent perl annum amoigxit to Rs. 24.40 ?
(1) 2800 . (2) 3200 ‘
(3) 3500 @) 4200 N
aﬁa%ﬁn&rw3a&ﬁ%m5qﬁraﬁnﬁra&aﬁﬁwwweﬂrﬁ@HW- |
% T P IR 24.40 T BT ?
(1) 2800 | 2) 3200
| (3) 3500 (4) 4200 o

- T794. | A grocer has a sals of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562
for 5 consecutive months. How much sale must he have in the smth month
so that he gets an average sale of Rs. 6500 ?
(1) 4991 | (2) 65603
(3) 5B43 | (4) 6235
w5 9T AT Ore WER AR 6435 BT, 6927 TT, 6855 G, 7230 TUT e?ﬂ
6562 5T o Rt Fw 1 B WA N weh el o @ ey A S
e A 6500 TIT & ST ?
(1) 4991 : (2) 6503
(3) b5bH43 (4) 6235

- 95, In how many ways, the word ‘Success’ can be arranged
(1) 4920 (2) 420 |
“(3) 490 4) 920 B

GW%SEfSuccess’ﬁﬁﬁ%ﬁmﬁW@mﬁﬂﬁﬁﬁWWW%? |
(1) 4920 - (2) 420 |

(3) 490 4) 920

PG—EE—2022 (Economics) Code-A
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Questions

13/8%14/2) = (2.5 - 0.8)]>=?

Y

1) 24 (2 154
@ 22 | . (4) 278
. [(3/8 x 14/2) + (2.5-0.8)2 =7

W 24 @) 1.54
. 4({3) 2.25 @) 278
97 - Pankaj" isin the East Qf Ram and Ram is in the North of J agat. Maniisin
the South of Jagat ther_l in which direction of Pankaj is Mani ?
(1) South-East @ South-West
3) South @) North-East
Wﬂﬁ%ﬁﬁ@a%@?m,w%wﬁtww%ﬁwﬁw%ﬁ
o g 1 R Ram & @r e ¢
(1) Wo-gg @ herlem
@®) & (4) FR-gd
| 98 If DELHI is written as WVOSR then GOA will be
| () HPB @ 1QC
® Tz @ AGH
SR &4 DELHI % WVOSR R & GOA & &3 frer s ?
(1) HPB | @) 1QC
® Tz | @ AcH

PGrfEE_f2022'(Econonﬁcs) Code-A
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Question Questions
No.
A cube is coloured red on all faces. If it is divided in to 64 small equal

sized cubes, then how many cubes will have three red faces
1 0o 2 4
(3) .6 | 4 8

T B SRS D AR O A T B | R 36! 64 B et ghd # dfe R
o, @ fed o ghel & AN U AR e ?

M o @ 4

3) 6 | 4 8
16& liig7=?

» v | @ 7

@) 7 ' (4 49

log+/7 _,

log7

1) 1/2 @ 7

® 17 | @ 49
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Question Questions o
No.
L. In India the Planning Commission used to define the poverty line, mainly.

on basis of

(1) Nutritional requirements

(2) Per capita income

(3) Monthly per capita consumption expenditure
(4) Employment earnmgs |

WWWWW‘(@T@@@H %ﬂmwwqﬁﬂﬁamm?
(1) 9% STEXd & HER | ‘
2) Uk ARG A $ IR W

@) Wi =fp TEER SUEN B & o W

@) UFIR § 9 ST & AR 9T

2. When was MGNREGA launched in India ?
(1) February, 2006 (2) February, 2006
(3) February, 2004 (4) February, 2014
AR H T F @ fhar @ ar ?
(1) Had, 2005 (2) HE, 2006
(3) ®wEl, 2004 (4) HEd, 2014

3. The unemployment rate refers to

(1) .Proportion of unemployed in total population
(2) Proportion of unemployed in total work force
(3) Proportion of unemployed in total labour force
(4) Ratio of unemployed to employed |

AR B & B 97 8

(1) & SEen § SREAR @ SR

) T BT A AR H I

(3) FA AFET IS N STURT

(4) e ITFIRT X AT SO S 61 ST
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| o ‘Code-B
- |Question| Questions |
No.
g 4., .| During the last many labour force surveys, which state has the largest
' e unemployment rate among all the age groups ?
| @ Nagaland = (@ Kerala
(3) West Bengal , (4) Punjab -
ﬁ@%ﬁwﬁwﬁwa@ﬁﬁﬁ?ﬁwﬁwqﬁﬂw
| R
) s - @)
| (@) YREm T | @) I
5. | The nutrition based poverty line for rural areas refers to the calories

‘consumption less than

(1 92400 calories (2) 2100 calories
(3) 3500 calories | | ' (4) 1800 calories

WWWWWWM%@W%@WW%W%%
Sl T % 7

‘(1) 240037 (@ 21003
@) ss00dAGT (4) 18003k
Who 'is'knoiﬁ-rn' as the‘ father of Indian green revolui_:ion ?
| 1) Jawahar Lal Nehru (2) Swami Vivekanand
| 1 ®) 'M.S.Swaminathan (49) N.E.Borlaug
WA BRG i &1 Reme R w9 o @ 7
| @) v Y (@ Tl R
(3) . . e @) . £ 9

o PG—EE-2022 (.E-coiiomics) Code-B
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No.
7. Initially the green revolution was concentrated in the states

(1) Punjab, Haryana and U.P. (2) Punjab, H.P.and U.P.

(3) Punjab, Haryanaand M.P. (4) Haryana, H.P.and U.P.

qEoT A & afw AR B & T 7% A & 7 |
(1) doe, eREen X SW Ry (2) U9, i%qmn%swﬁ?wm

(3) o, SRAPT T A R (4 e, R R o IR R

8. Who introduced the Farmers (Empowerment and Protectlon) Agreement
on Price Assurance and Farm Services Bill, 2020 and Farmers Produce
Trade and Qommerce (Promotion and Facilitation) Bill, 2020 in the Indian |

Parliament ? ,_
(1) Narendra Modi (2) ‘Narendra Tomar
(3) Kailash Choudhary (4)  Amit Shah

Wwﬁﬁmﬁmmﬁweﬁi%ﬂmﬁmﬁwwwmﬂzﬁmeﬂ?
) TR R, zozowmﬁﬁm%wwmﬁw(meﬂt
weferrd) fo, 2020 397 T & 7 |

1) T HR 2) TH AW
3) s Al (4) @ qme
9. When agriculture was included in WTO agreements ?
(1) 1995 (2) 2000
_ | (3 2005 (4) 2010
ﬁsaamw%m@%ﬁ@ﬁ%a@rmwﬁaﬁmwm?
(1) 1995 @ 2000

(3) 2005 (4) 2010

| . PG-EE-2022 (Economics) Code-B |
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Questions

1 10.

W_hen NAB_ARD came in to being ?

(1) July, 1982 (2 January, 1982

(3.)__ January, 1985 (4) February, 1985
o B e o 7 | )

(1) T, 1982 - (2) e, 1982

() sl 1985 (@) Ty, 1985

- 11

| When a market failure occurs due to the reason that the user of the
'pubhc resources do not pay for them, its called

(1) The problem of market structures

| (2) The problem of ﬁspal deficit

(3) The free rider problem
(4) The hijacker problem

| T A g R oo @l ¥ e R W wee @ s e A B

1) " A B FHE Q) N o & e

| @ gwEs & e (@) TE-U B T

ETH

A resource is called a renewable resource if

(1) It can be replenished (2) It can not be reused

(3) It has become outdated  (4) Itisno longer in use in the econdmy

e ol W Y ieRe S el ST A & O
(1) SR iR R or

(2) SEH AR TR T BT o &

@) & W [ T T &

(4) 9 e B erdEEe ¥ 9F e A WA

* PG-EE-2022 (Economics) Code-B
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13.

Sustainable development, refers to
(1) A constant rate of growth, for present generation

(2.)' A growth without government assistance for present generatlon at
the cost of future generation

(3) Higher growth for future generation at the sacrifice of needs of the |
present generation |

(4) A growth in present times without sacrificing the needs of the future
generation

a9 & oref
(1) . T G B R w5 Rex R & ax

@ W= 9 A w®, mmﬁﬂm%wqﬁnﬁaﬁmﬁ%_- |
P e R ex ’

(35 W%ﬁwmm%wu%%ﬁﬁﬂ%ﬂ%ﬂﬁﬁﬂﬁﬁlﬁ%%m |
Jea} e fawg ¥

@) oI o G A FEE 9 .o e @ E gane Tg 3@ ol
fmm

14.

The UN conference on sustainable development is also known as
(1) Rio2000- (2) Rio2010

3) Rio2012 (4) Rio2015

Wﬁwﬁﬂgﬁﬂgmzﬁrﬁqﬁwzﬁraﬂ?ﬁmwﬁww%?

(1) Rar2000 2 Rareo10
(8) Rar2012 (4) Er2015

PG-EE-2022 (Economics) Code-B
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715, The Brundtland Commission Report referred to |
(1) Ind_ustrial development (2) Agricultural development
N (3) Sustainable develbpment (4) Trade and development -
| Fde A A RA R & e § 7 |
1 @) e R | @ TS e
() W R Y (4) =R X FwE @
. 16, When natiohal income dccounts incorpoerate the environment cost and
' ‘natural resources, it is termed as
’ B (1) 'Soci_gl- accounting - (2) Grey accounting
, (3). Sustéinable acéqﬁnting (4) Green accounting
g sﬁ o1 Tl TR % ?
!(1) e a @ W e
® W @ e i
o | 17.l | The envu'onment Kuznet cﬁrve is
- (1) U-shaped (2) Upward sloping
(3) DowﬁWard sloping (4) Inverted U- shaped
Eg?ﬁ'c’ S R 9% @ ST T BT & 7
(1) alﬁ?ﬁ Tl & ?ﬁw 2) FW B T o1 gaNl

3) AR A TwE PR g (4) ST W & Y B R

PG-EE-2022 (Economics) Code-B
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| No. :
18, The recognition of the close link between an organisation’s decisions dand

their impact on the natural environment is called
(1) Global environment (2) Greening of management

(3) Social responmbﬂfny (4) None of the above

WW%%@I@WW@%H@RW%M% w«{vtial?rqaqm chwiﬁf
ufekaT @ @ A e o 8 ?

(1) e g (@) T @ ER (eprarenea)
(3) Wit Rl (4) S A & D &

| . 19, Which of the following phenomenon is associated with global warming -
(1) Southern oscillations (2) ElNino
3) LaNina (4) ElNinoModoki -
Frefefem & & i W ge AP T | wEhe § 7
(1) o $ Sar-TeE @ @ Fﬁﬁ‘r :
3) @ S (@) T A AR

| 20. When did the Forest Conservation Act came‘in' to force in Indie :

(1) 25 October, 1986 (2) 25 October, 1980 |
(3) 25 October, 1972 (4} 25 October, 1990 |

IR F o RO ARFEH e S g
(1) 259G, 1986 (2) 95 ST, 1980
(3) 259WE<, 1972 (4) 259G, 1990

PG—EE-2022 (Economics) Code-B
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: 21   - If January 1, 1996 was Monday, what day of the Week was January 1,
1997 ?
(1) 'Tuesday (2) Wednesday
3 Sunday ' (4) Friday )
| PR S 1, 1996@%@[@[@@1 1997 & B &7 R 2 ?
(1) TEEr @) TR
® @R , @) PFEAR
: .22'.' | How _m?nj times, the hands' of.'a clock coincide in a day ?
oo | - @
1@ 2 @ 2
o et 3 A 2R gl R 9 o e 7
(1) 11 @2 12
1 3 22 ‘ 4) 24
| 23. | Including stoppages the speed of a bus is 60 km/hr and excluding stoppages

its speed is 80 km/hr. For how long the bus stops in an hour ?

(1) 20 min. (2) 15 min.

| ® i0min, (4) 12 min.
| STERT-SRTT SRl WX T 1 w9 FoRm Y el &) @ iy 60 R A /aver ot

et B § PR @ 80 B, /aver ol ¥ o ave F 9 99 B g &
EISSREEE
(1) 20fFe (@ 150

©®) 10 fFe : @ 128

* PG-EE-2022 (Econoinics) Code-B
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No.
24, A man completes a journey in 5 hours. He completes the first half of the

Journey at a speed of 20 km/hr and the second halfat a speed df 25 km/hr.
What is the total journey in km ?

(1) 5.4Km (2) 6.4Km
(3)' 2.7Km 4 3.2Km
T AR T W 5B F Qw3 9E OF A9% T e ol Re|
20%@/@6%@@@@?@?%&?%@%%%%#%%@ |
HTE 8 | 39 T Hr R5.A i‘fa\;,—crwfc‘nwavn? : |
(L) 5.4%5.151. | @ 6.4

3 2.7 R5.55. 4 32 fes AT

25,

A brother is twice as old as her sister. If 10 years ago, the age of the |

brother was 6 times the age of the smter what is the present age of the
brother ?

(1) 25yrs. | (@ 20yrs

(3) 15yrs (4) 14yrs

T T8% B 30 AN T8 A IW A A T ¥ | R 10 TR T I 97 ol
ToT Bl IH W B T A | SHH adqW oF = ARl ?

1) 259 (2) 209w

(3) 15§/ (4) 14W

PG-EE-2022 (Economics) Code-B
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No.
. 26. | Look at thzs series : 8, 43, 11, 41, __, 39, 17. What number should fill in
- the blank ?
()42 © 8 .
@) 14 4 19 -
_"w%mﬁaﬁﬁwwﬁ 8,43, 11,41, _, 39, 17
L 42 @ 8
e 1 . @
127 | In a bag, there are 8 red, 7 yellow and 6 green balls. If one ball is picked
| up-at random, what is the probability that it is neither red nor green ? |
1@ 12 - @ 18
1e® @ 1T |
| w5 3 F s, 7%@?6@%%%%@&@%@%%@@@
'wwmm%%a‘rﬁaawaeﬂﬂraﬁ ?
CRST- N @ 18
| G 3 - o 4 17
If: all'drink mixes are beverages; all beverages are drinkable and some

bevéréges-'are red, then which of the following is true ?
(1) All beverages are drink mixes |

(2) All mixes are drinkable

(3) Allred mixes are drinkable

(4) All of the above

43T T U fgor 9 g Gﬁﬁqwﬁtﬁﬁﬂwaaﬂ'{ajﬁﬁﬁwﬁwﬁ
A FrfaRaa & @9 o #uw 9w § 7

(1) ¥R 97 e, ¥ st & ?

@ |R YT fgor, O A @Y ¥

@) W a« B 9N 99 S @

@) IR qll

| _P_G-_EE-202_2 (Economics) Code-B
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99. | A fort had provision of food for 150 men for 45 days. After 10 days, 25
men left the fort. The number of days for which the remaiiniﬁg food will
last, is | | o
(1) 42days ' - (2) b4days
(3) 37.5days ‘ (4) 47.25days
o Bl § 150 SR & RiT 45 R @1 o @ B 10&?&1&@1‘(25@@1
W%Wﬁmﬁwﬁ@wﬁﬁémaﬁ%%ﬁ%ﬁ?w? -
1) 42f= @) 54

| 3) 37.5% . 4) 47.25%R%

30, | Fill the series 2, 4, 12 48, 240, .....
(1) 480 | @ 720
(3) 960 (4) 1440
39 ol Y F W B 2, 4, 12, 48, 240, ...
(1) 480 @ 720
(3) 960 (4) 1440

" 31 Which of the following is true ’

(1) Total revenue is maximum when average revenue is maximum
(2) Total revenue is maximum when marginal revenue is maximum
(3) Total revenue is maximum when average revenue is mlmmum _
(4) Total revenue is maximum when marginal'revenue 18 zero .

T Ru ot § § -6 9 S g 7

Q) wamﬁmﬂaﬁmq@ﬁ%m%mﬁafﬁmqé’r
©2) W@Mﬁﬁwaﬁ%mmmﬁwa
3) W&Wﬁﬁmﬁ@%ﬁ%m@ww:ﬁﬂa
(4) F oS A At Bkl B ST diHid ot Rt @

PG-EE-2022 (Economics) Code-B
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1 "No.

1 .- 32, | At the break-even point :

' '(1) _ The ﬁrm is incurring losses but average revenue is greater than the o

average variable cost

. (2) - The._ﬁrﬁl- is incui‘ring losses but average revenue is just equal to the
‘the average variable cost

(3) The ﬁljm is incurring losses but average revenue is lower than the
average variable cost '
| (4). The firm is getting just equal to its total cost ¢
|t A
| M wa?mﬁga@aﬁ%wm@wweﬁmqﬁaﬁaﬂawﬁg
| SHftres

© ﬁwm@m%wm@mwaﬂmqﬁaﬁmﬂama

| ® Ww%@@wﬁ%wwﬁaﬂﬂaweﬂwqﬁaﬁﬁsﬂawﬁ
% B ¥ N

@) o B I G G D AR & SR OTE B T S

' 33 - Whlch of the! following is not a feature of perfect competition ?
- KoY lP’erfect klnowle.dge. ~ (2) . Perfect mobility

1 3) Inﬁnii:e number of b-uyefs (4) Selling cost

| Frefifed ¥ & A T EEY T FE T A S 7

O gf 9w @ o TR

@) o @ o gEn (@) R @w

PG-EE-2022 (Economics) Code-B
| (12)




Set-X

'CodeéB

Question
No.

| Questions

- 34.

Which of the following is not true under perfect competition ?
(1) - The ﬁrm is price taker
(2) Industry is price maker

(8) The firm can bear losses in the short term

(4) The firm always enjoy _supérnormal profits in the long run

P & & S-a S o g $ o Wl A b 7
(1) B R T8 A

@) S S Frafr wa @

) Wi F A2 w F afa w93 G ¥
(4).@8%%@@6%%%@?@%%

35.

Under the price discrimination of the first degree-

(1) Whole of the consumer surplus is taken by the nionopolist | |

(2) Only the marginal units of each group have zero consumer éurphis

(3) The market is divided on basis of elasticity of demand
(4) All of the above

TE & & DN [A9% & ofenld |

1 @WWW%F@HWQTSW@ET%

#) Wﬁwwﬁ%@wmﬁwwﬁwmﬁqéﬂ%

3) g&q@aﬁwaﬁaﬂa%aﬂwwﬁfﬁwwﬁﬁm"aw%
4 W aqd

{  PG-EE-2022 (Economics) Code-B
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wmaﬁﬁa%wa%mmﬁwmmwﬂ?
1) (aﬂﬂamﬁiﬁwmﬁ)/@maﬂqﬁ

@ 1- oa e /Q sme
(3)-%'%@/%@6

@ et A T

o | Code-B
‘| Question Questions '
B ‘No. .
| “36. ‘Monopoly power is defined as

(1) (AR-MR)/AR (2) 1-AR/MR
(3)  MR/MC ' 4) MC/MR -

37. | Excess capacity shows :

(2) Difference of minimum and maximum output

(4) None of the above
ﬁwﬁ%aﬁﬁﬁswaﬁ%ﬁwww%?
1) Weﬂr@qmw%wﬁ
| @ .w'eﬁwfaww%wg

(8) W awl IR R T @R AR SR § v
| @ swm d & B @

(1) . The difference of actual output and equilibrium output |

(3} Difference of equilibrium output and minimum cost output

' PG&EE‘~2022'(E_cononﬁcs) Code-B
o (14)
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38. A kink in demand curve under oligopoly shows that
(1) Demand is more elastic for a rise in price

(2) Demand is less elastic for é fall in price

(3) Both(1)and (2)

(4) Neither (1) nor (2)

SR 7 Mear (Ree) 7T a5 @ aaf ¥ 2

(1) ®Md % S F AT H TEF g 8

(2) - BHT B TS & AT B awd e

3) (1) T (2) &

@ TaTQ)TE @

39. Asymmetric information refers to a situation when
(1) Nobody has the perfect information
(2) Everybody has the perfect information

(3) One party has the greater information than the other

(4) Noinformation at all

AT e B OF U Rafy @ el ¥ o
ROV I U G B

) w9 H QT &

(3) T U B TR Y SR F A

@ FE 0 ga I A @

- PG-EE-2022 (Economics) Code-B
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., ..'4'0; | The innovation theory of profit was g"iven by
(1) Hall and Hitch (2) Marshall
(3) Cournot (4) Schumpeter
9 7 AR R B Y Ry ar ?
1 #IRREIT (2) T F
@ T @ g 3
- 41, A petal is to flower as
| (1) Tyre - bicycle | (2) Puppy - dog
(3) Salt-pepper = (4) All of the above

S T g owE g E g W

@ R 7 A @ R @15 A

@) T W A A R @) TR

e

Pointing towards a girl, A man said, “She is the daughter of only son of

- my grandfather”. How is that man related to the girl ?

1), _'Brother (2) Father
(3) Uncle (4) Cousin
T TS B A FUNT H T S ¥ el a1 N I F el 92 A9 ¥

| @ ol oy e @ ey i e § 7

Q) - ) f
@ == | (@) =T TR

PGQEEa2022 (Economics) Code-B
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43. On what sum will the difference between the simple and the compound
' interest for 3 years at 5 percent per annum amount to Rs. 24.40 ?
(1) 2800 ' (2) 3200 |
(3) 3500 | (4) 4200
S A W W 3 I8 B T 5 ufvew ofy a¥ W W grErer ) Rl o
B T H ST 24.40 TG A ? |
(1) 2800 (2) 3200
(3) 3500 (4) 4200 o ,
. 44, A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 | -
for 5 consecutive months. How much sale must he héx/.'e in the sixth month |
so that he gets an average sale of Rs. 6500 ?
(1) 4991 (2) - 6503
(3) 5543 @) 6235 .
T TSH ERT O WEN AR 6435 BT, 6927 BT, 6855 TN, 7230 BT 3 |
6562@?@%%%!@3@%&8@%@%%%@:
SEd [ 6500 $YT & Q7 |
(1) 4991 (2) 6503
(3) 5543 , 4) 6235
. 45, In how mariy ways, the word ‘Success’ can be arrang_ed
(1) 4920 @) 420 |
- (8) 490 (4) 920
G@Gﬁ%ﬂa‘SuccessﬁWﬁmﬁﬂWﬁmﬁaﬁmﬁﬁW%?
(1) 4920 (2) 420
(3) 490 (4) 920

PG-EE-2022 (Economics) Code-B
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0.
[(8/8 x 14/2) + (2.5-0.8)]2="?

1@ 24 @ 154

(3) 225 | @) 2.78

‘ _[(3/8 X .14/.2) + (2.5 - 0.8)]2 = 9

1 24 @ 154
(@) 225 4) 2.78
47. | Pankajis in the East of Ram and Ram is in the North of J agat. Maniisin
the South of J agat then in which dir ectlon of Pankaj is Mani ?
(1) South- East (2 South—West
| 3 South - (4 North-East
| GBSt XM % qd H wl @ iR T, W%Wﬁnqﬁ‘rw%w?ﬁ@a%é‘r
AT et Bl e Rar e e ?
(1) R @) r-aiEm
(3) gl (4) Iy
B 48. | I DELHI is written as WVOSR then GOA will be
| ms @ e
@ TZ (4) AGH

| 8FR &7 DELHI # WVOSR R & GOA % 39 forar st ?

(1)  HPB (2) 1IQC
@) TLZ | (4) AGH

; PG-EE-2022 (Economics) Code-B
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49, A cube is coloured red on all faces. If it is divided in to 64 small equal |
sized cubes then how many cubes will have three red faces
(o 2) 4
@ 6 4) 8
@mwﬁ%mﬁ‘mﬁwm%@mﬁ 64%%‘(3@1%%%
T, T BN 5 el @ AW IR o 8 7
1 0 (2) 4
@ 6 | @ 8

' Iogﬁ
50. =
' log 7
(1) 1/2 ' 2) 7
(3) 1/7 - (4) 49
log 7 —9
log7

1) 12 2 7 |
(3) 17 - @) 49

- PG-EE-2022 (Economics) Code-B
. (19)
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Q“;iﬁm " ' Questions
B 571.» | Whichplan is known as Mahalanobis plan
| (1) First plan - (2) Second plan
(8) Fourth plan (4) Eiéhth plan .
e o A © gl e
| "Q'(a)'ﬁ*reﬂﬁw . (4) ot dor
T 52 B 'Th,e initiaﬁon of ‘Blue Revolution’ is related with
.| @ Thirdplan | @ Tifthplan
(3) Seventhplan : (4) Ninthplan
:ﬂaﬁzﬁrﬁraﬁﬁwrﬁﬁsﬂzﬂwéwﬁ%%?
ROt @ ufedt e
- (3)_m-?ﬂam | () A A
- '. 53. T Which iaeriod is termed as the ‘Plan Holiday’ ?
(1) 1947-50 2) 1966-69
(8) 1990-92 | (4) 2017 cnwards
fﬁwﬁ%w@ﬂwmwﬁ?
1) 104750 (2) 1966-69
(3) 1990-92 4) 2017% 9 FH T

: :PG~EE—2_02-2 (Economics) Code-B
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Question Questions T
No. |
| 54. When did Niti Aayog came in to force ?
| (1) 2010 @ 2015
(3) 2017 . (4) 2014 , :
S o ¥ @1 AW BT & fm ? |
(1) 2010 @) 2015
(8) 2017 | (4) 2014
55. Which plan was launched with the slogan of ‘Garibi Hatao’ '
(1) Third plan (2) Fifth plan i
(3) Seventhplan ) _ (4) .Nint'h-p;%n | |
B @ A T Ee BB WA A E A7 ]
1) ded dom @) e A |
(3) wE G (4 e D
- B6. Which of the following had the highest poﬁulation dénsity in Census, 2011 -
(1) Delhi (@) Maharashtra
(3) West Bengal (4) Uttar Pradesh

| 2011 %! SREFT | RS TeE @ SaE T a9y e 6 7

(1) et (2) BRI
(3) TREm T | @) W RY

| PG-EE-2022 (Economics) Code-B
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Question |

Questions

ST

(2) -Number of females per thousand of population

Sex ratio refers to

(1) Proportion of females in total population

3" ’N'umb(.ar of females per thousand of males

4) . Nuﬁ‘iber of males per thousand of females

| '(1).@-aﬁﬁwﬁﬁaﬁf$ra§qm

@) R eI SEEn & 99 R @ B
@) i TR w & 0 R @ Pl
@ R TR Rt 3 00 W A P

| 58.

The Census 2011 was the National Census Survey conducted by the

Census Organisation of India.
(1) 7Tth @ 15th

(3) 10th | 4 1lith

9011 %! SIS, WA SFIOFT Te &1 B 81 TS SFFT HaeT a9l |

a1 7
(1) Hadr (2) ugsdi
OREGEE | (4) TGl

| PG-EE-2022 (Economics) Code-B
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59..

Demographic dividend means

(1) More of the males than the females
-(fZ) More of the elderly than children
(3) More of the working age population than the dependent popuiatlon :
(4) More of the adults than children ’
SRR A w1 o § 7

(1) I @ ge Rl § SO e

@ T @ FE= Qs P

@) HEFET ar @ PR ae | s fERl
(4) aerT T T S W AR & |

60.

The demographic dividend window of India w111 be closed on
(1) 2022 (2) 2050 '
(3) 2055 4) 2030
Wa‘%aﬁ@%ﬁaaﬁwﬁ%ﬁmaﬁ@%ﬁ%{ﬁm%?

(1) 2022 (2) 2050 .

(3) 2055 (4) 2030

61.

Positive net exports lead to

(1) A righ’ﬁward shift in aggregate supply
(2) Aleftward shift in aggregate supply
(3) A rightward shift in aggregate demand
(4) A leftward shift in aggregate demand
Freet frala & oFToTs qEel

D) Fa W o T Rewes S @

@ %9 O SE @t Rewed ol @

(3) Fd W T TE e T

(@) FE A 9K @6 EE T e

PG-EE-2022 (Economics) Code-B
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. (3)&/(3@#73&%92{%)

ey Code-B
- [Question Question.s
- No.
_62.' { Ifthe total receipts are less than the total expenditure of the government,
| the deficit is called
| (1) Fiscal deficit (2 Budget deficit -

'(3) Revenue deficit (4) Income deficit
TR TN AT 61 it T @ & &9 & & o1 oy ey o ¥ 7
(1) TeTEHNE e (2) SNIE HreT
(3) YT =T (4) ST 1
The'value of multiplier can be found by :

(1) - Change in investment/change in income
_(2)' 1/(1-MPC)

3 UMPC

@) 1/(1-MPS)
W'ﬁraﬁ%-f&uﬁm@@rwww%?
1) ET 7 el o § aedeh

@) .1/‘(1- SRR o i )

@ V(- F=a # 9w gk

PGLEE72022 (Eéohéfnics):'Code-B

(24)




Set-X

Code-B
Quéstion Questions
No. .
64. In the short period the aggregate supply curve

(1) Canbe shifted to the rightward direction with help bf the fixed factors |
ohly ‘
(2) Can be shifted to the rightward direction with help of the variable

factors only

(3) Can be shifted to the rzghtward direction with help of both the ﬁxed
. and the variable factors

(4) Can not be shifted at all

9 T H i @ A |

(1) R Rem arem @ g7 3¢ o o Regaran o o 2

2) R WREEHeT W B Tl B A qCh RIEsEr ST a9 {
@) R oR aRedeir SR W @) W @R A O R o wad
(4) fommper € =81 Raweeran o o |

- 65.

The intersection of aggregate supply and aggregate demand shows
(1) Full employment

(2) Equilibrium of the market

(3) Equilibrium ofa ﬁrm

(4) Effective demand

T A AR o B ki e ¥ 2

@ T W @ T 7 g

(3) Bl ®H F e (@) T

I

PGTEE-2022 (Economics) Code-B
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Qu;}stibn Questions .
+ 0,
T 66.

Ig the theory of liquidity preference, the passive balances refer to

(1) Speculative demand for money

| (@ Transaction demand for money

1 @) Precautlonary demand for money

(4) Both (2) and (3)

T e R o s g ¥ 7

1) T % fow gReed w1 @

(2) RN & Rew 3 R T & AT
@® Qzﬁiﬂﬁﬁﬁw%ﬁugﬁrzﬁrwzﬁr
@ @R @

67,

1 Sam_uelson s business cycles are based on

(1) The interaction of multiplier and accelerator

@) | Interaction of demand and supply

(8) Elasticity of demand and supply

(4) Interaction of government expenditure and revenue

.W%WWWWWWEQWW%‘?

(1) T 3R &% & e
@ W AR G B st A
(3) T S IR A e F Reww

1@ o S T @ sfafrar 9§
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Question|

Questions

68.

The dirty floating refers to

(1) Depreciation or appreciation of currency
(2) Devaluation or revaluation of currency
(3) Illlegal exchange of currency

(4) None of the above

Aol gl a1 o @

(1) FTH F Tod B 8 qT GEX & o

© w3 T F Awge a1 @R B

(3) FE B WHALT T0B q RfE s

@ s ¥ o WA

69. The theory of comparative advantage is originally named after -
(1) J.8. Mill (@ Bo Sodersten
(8) Heckscher and Ohlin (4) Edgeworth
e 1 1 R g s A Y S o ¥ 7
O 5w fm @ FERT
(6) IR X defr @
- 70. The incidence of an indirect tax falls on
(1) Producer (2) Consumer
.| 3) Wholesaler (4) Retailer
FITE H F AN B O ugar § ?
(1) I W @ T w
3) 9% Rmar W (4) TgF RS W
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Set-X
R Code-B
Question Questions
1~ No. :
7L | Which of the following is not a componient of vicious cycle from demand
side
(1) Incoine ' (2) Savings 5
(3) ‘ investﬁent (4) Employment .
‘ﬁﬂﬁ@aﬁ%ﬁqﬁmww%wwmﬂﬁaﬁ?
(1) s | @) =
® fay (@) TR
According to most of the theories, fall in share of employment in agriculture

indicates
(1) Crisisin agriculture
(2) Structural shifts related to development of the economy

('3)' Mass unemployment

| (4) Mass rural poverty

ﬁm%@%ﬁmﬁ%m@ﬁ%ﬁmﬂﬁmﬁwﬁﬁmmﬁ
@) @é’tﬁwm@w
@) e & oM 4 gafug s gkl & oF

1@ Y SN # BT
@ W%@’ﬁﬁﬂﬁaﬁaﬁrs’m
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(1) Comparing per capita incomes in US$ terms '

(2) Comparing national incomes in US$ terms

(8) Comparing the government debt in PPP$ terms

(4) Comparing the per capita incomes in PPP$ terms
mﬁ@aw%mﬁﬁ?—wmﬂaﬁéﬁtww%?

(1) ol Sew oy =fn o # geT Ho

(9 wE SR A T o @ g B

(8) Tl Afth §AE aw S F T F H G FE

@ wlE gie e 9t Sfer | gl eiRh, TEsl @l @FF‘IT BT

| Code-B
Question Questions |
No.
178, Which of the following is not a component of hurﬁan development index
(1) Knowledge . (2) Life expectancy
3 Infant mortality (4) Standard ofliving
Freffed & @ PR-1 = AE R g @ el T8 37
@ T | @) IR e oy
@) RgIg« (4) SfET ®R
74 Human development index was first formulated in
| (1) 1990 2) 1970
(3) 1965 4) 1995
Wf&?ﬁmqqcmqvﬂsm qa«%ﬂwﬁ@%ﬁmwm?
(1) 1990 - (@ 1970
(3) 1965 . (4) 1995 . .
| 75. For international comparison which of the fqllowipg_is considered gbetter 5
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| 76,

| The U_nbalanced,Growth Theory was given by

: .:(1)' Rosenstein Rodan (2) Hirschman
(3) Lewis - (49 Harrod and Domar b
em‘g'l%ﬁ eeTe = fﬁ?ﬁr et BT e Ty ¥ 7
(1)_ FeTET e @ sfdw
[ '(3')‘ o w s i d

_ Why the balanced growth is requlred in the underdeveloped economles ?

‘(1)- Due to mdwlsszhtles in production

(2) Dueto indivisibilities in demand
(8) Due to indivisibilities in supply of savings
4) A.ll of the above

mﬁwﬁaemwaﬁ%ﬁmm%%qa@mﬁaﬂeﬁwm%ﬁ%?

'_(1) Wﬁaﬁwmmeﬁ%m
| @ AT STl & B

@) = & YRt F e $ aro
@) IWE R
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No.
. T8. According to Lewis, the wages in the modern sector are

(1) Just equal to that of the traditional sector

(2) Greater by 30-35 per cent of the wages preva111ng in the tradltmnal
sector

(3) Greater by 50-60 per cent, of the wages prevaﬂmg in the tradrtlonal
sector :

(4) Greater by 10_—15 per eent of the wages prevailing in the traditional |
sector’ '

%ﬁﬂ%waﬂgﬁmﬁaﬁw@ﬁﬂ |
(1) R &9 B ATl # R S g auee e ¥
(2) TR B A I I T 30-36 wRE o A 3
(3) RN & B Al # e 50-60 wew s B Y
(4) GTTHRE & B AEh B A 10-15 e o Bk ¥

79.

.@gqéﬁwra%mﬁmm@a%waﬁaﬁ%?
(1) S 5 sRed v ¥ R A B

The concept of disguised unemployed refers to the workers
(1) Who are voluntarily unemployed |

(2) Who are involuntarily unemployed

(3) Who do not add to total demand

(4) Who do not add to total production

@) W B sfkes wy § aReER A ¥
@) S 5 3w w1 § B ey T owR
@ <R Fa ST § 9 fww o wR
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80. | Below the critical minimum effort 0
| (D) .Spread effects are greater than the backwash effects
@) - Baﬁckwé'sh effects are g"réater than the spread effects . - ¢
(8) Negative externaﬁties are lower than the positive externalities
'(4). - There is too much government interference
T T e % AR AR Rt .
(1)%@%5%%12??%@@%% S
CRECELE R EE T o
| © T T e et 3 e
| @ Wl ey g @ A

- 81, | The concept of real per capita income means that

(1) Per capita income has been adjusted to the inflation rate
(2) ' Pef capita income minus taxes
| 3) | Per capita income minus dépreciat.ion ‘
| (4) - Net profits of ﬁhe_production sector

ST R SRS o A owmeRen @ o ¥ B

(1) 9y =aRe e @ gERRy X & R qeRiRE a¢ Rar T b
| @ o =i R B & o e Ry e ¥
(3) " Ui &fer o § § e @) wer Rar w2
| @ SR 89 & g W

" PG:EE-2022 (Economics) Code-B
| o - | (32)




Set-X

Code-B
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No. .
. 82, National income is also known as

(1) GDP at market prices (2) GNP at market prices
(3) GNP at factor prices  (4) NNP at factor prices
T PR B g8 e o R

(1) 9N S W b, B IR

(2) SR HHRT | T TS SR
(3) WIEF HAGI W T T SR
(4) wwaﬁqﬁrwﬁaﬁﬁﬁaﬁm

83, In an economy the value of multiplier is higher if
(1) Propensity to save is higher

(2) - Propensity to invest is higher

(3) Propensity to consume is higher.

(4) All of the above

el oft refereer & o W T ofe @ § eFR
(1) 390 # gt e & |

@ FEg Eé’r ggict e 8t

(3) TuHN @ gl iftes &

(4) T g9l
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1Question

Questions

[ 8a.

The MPC is equal to APC, if
¢)) The MPC is constant

(2) APCis at its minimum

(3)' APC is at its maximum
o 1@ MPCIS atl’ssmammum

| o A e w6 e R B e A o
(1) SuHiT @ Wi vaR R ® |

2) mﬂﬂ%aﬂw;{qﬁrmww% |
(3) SN 3 ol AR @Y ot W R

| @ wwin @ i s o ot o 3

Autonomous investment means

‘| (1) Aninvestment which grp*zvs automatically
| (2) Aninvestment which grows along with income
| 3) Aninvestment which is independent of income

,:(4)' An investment which is independent of rate of interest

R ﬁ?:smsr a4 ¥
@ AT STt ot e e B

:_ (@) e FRY A ST B A Tg 2
@ % PR S et § e 3
o W am A cagme -

i
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. Qu;Stion Questions
. No.
86.

A

W

Set-X

(1) Household income

(2) Household consumption expenditure

(3) Government expeiiditure

(4) Investment expenditure
Wmﬁ“mwaﬁmﬁwﬁmﬁanﬁaﬁmw%?
(1) =R o § @ T SeEn gy §
@) Tl Es§ @) Fag = ¥

| The unemployment allowance by the government i8 counted in:

- 87.

The interest payments on for elgn loans are counted i in:

(1) Balance of payments on current account

'(2) Balance of payments on capltal account

(3)- Both (1) and (2)

(4) Neither (1) nor (2) |

facslt oll X = B e R it @ o 3 7

L) TEF T WA (@) R F e A
@) (1) T (2) e @ T @D @

88.

The effective demand necessarily refers to

(1) Actual demand '

(@) Desired demand

(3) Aggregate demand just equal to aggregate supply
(4) Demand at the level of full employment

| I AT R RO SR S9N ) &7 |

(1) & A

(2) aisd w |

(3) 37 A H F LW & R R I
@) T IR B Refy ¥ AN A wi
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89. | If MPC = MPS, then the value of multiplier is
(1) Zero (2) One
@) Two | (4) Infinite )

(1) T e @ Q) % eI B8

@) & B ER &2 (4) SR B ?

- [790.

An increase in tax may lead to

1 A rightward shift in LM curve

| @ A leffwdrd shift in M C‘llrve .
| ® Aleftward shift in IS curve

(4) A rightward shift in both IS and LM curve

& H R A R

o | @ M 7 R T B

|'@ LM% 9 o Rees o @

@) IS 5 T TG Reee S 3

@) ISdR LMM&W#WWW%
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91.

Cross elasticity is defined as :

(1) Percentage changé in demand for X commodity due to percentage
change in income from Y commodity

@ Percentage change in demand of A consumer due to percentage |

change in income of B consumer
(8) Percentage change in demand for X commodity due to percentage

change in price of Y commodity.

(4) Percentage change in demand for X commodity due to percentage |
change in price of X commodity.

qiT & RRe! A & oot
(1) Y a9%g @ ot § sioad dE % BReT X 9wy @ A6 § B A qed

@) Bwﬁﬁaﬁamﬁﬁmsmmﬁsﬁ%WAwﬁﬁwﬁaﬁm
SRRGISERK]]

3) Ya?@a%ﬁﬁaﬁaﬁfsmaaﬁ%ﬁ%wxaﬁﬁ%ﬁwﬁaﬁmﬁm

@) X 7% B Fod § R aedd & FRer X g%y @ 5 Y A aw ok |
GENI

92.

The problem of scarcity and choice can be found in the definition by :

(1) Alfred Marshall (2) Lionel Robbins

1 (3) J.A. Schumpeter | (4) Adam Smith .
gﬁwaﬁrgﬁaqﬁwaﬁaﬁzﬁﬁﬁﬂmﬁﬁaﬁ%?
(1) o@be wisk (@ FEne dRe
(3) S.4. griex @ A R
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| @) " Ordinal utility

(2) Cardinal utility

(3) Ordinary utility

(4) Optimum utility
wag@mﬁa@rﬁqmaﬁsa‘f@ﬁﬂmwéﬁ%?
(1) FaTe g

(2). HEHmEEE JEr

(3) AR T

| @ s g

| Code-B
Question Questions
No.
| 938, | Ifthe utility can not be measured in numbers, it is called

| o4

Consumer surplus can be defined as :

(1) Difference of marginal utility and price

(2) Difference of marginal utility and total utility

(3) " Difference of marginal utility and average utility

(4) All of the above
TUHIRT SR oo R
(1) deiT T R find § o

(@) Wi gETT iR g JET ¥ e
(@) H g AR ol g o

@ TR T
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95. A consumer is in equilibrium where

(1) The indifference curve is tangent to the _price line
(2) - ThHe indifference curve is convex to the origin

(3) Both (1) and (2)

4) None' of the above

Th AN T TR B BT S

(1) S @6 BT @ B W R

(2) TN W R @ aXw oo e ¥

(8) TULRT (1) T (2) Al

@) IH F | B T

96. In case of the inferior goods, for a fall in price

(1) The price effect is negative due to negative income offect
(2) The price effect is positive due to positive income offect
(3) The price effect is negative due to negative substitution effect -

( ’ (4) The price effect is pesitive as positive substitution effect is highef
| ‘than the negative income effect

g aRgel @ ure § fma @ fre ® |

(1) STE 9919 % oM B & HRYT ST 99 o FO0Hs e 2
(2) GTE U & A BN B BN BN UG S O SR B

(3) VI 99 @ FOWHE BN B BROT DG THE N KOS B §

(4) ST TR U9E RO SR OM 8, 99T B B SRl
ST NI BT § : 4

£ b3
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"1 No. 'Y
1797. | The area between the ridge lines show :’ .
-(1). Positive marginal productivity of both the factors ¢

. (2) Negative marginal productivity of both the factors -
(8) ' Negative marginal productivity of factor on Y-axis

A '(4) Negative mar ginal productivity of factor on X-axis

T%HQ@Wﬁé%éFI$?%ﬁ

) ﬁmﬁaﬁm#ﬁwmﬁa&ﬁ%

@) 3 T o T W SR @ o 3

() Y-4% AR W P T W S B e 3
(@), X-gU 9 WEN R HOTH G SRS B & €

It 98 In the'long run, the returns to scale are ihci‘easing because

(1) " The production is experiencing only the economies of scale

'(2). The production ié experiencing only the diseconomies of scale

(8) The economies of scale are_higher than the diseconomies of scale
4 The diseconomies of scale are higher than the economies of scale
R W Y B o g9 R s ¥ oA

(1) v ¥ Rk Y A v e & A

©). S # R Ynm A i s @ @ el 8

(3) ST & YR e Y & e § o O ¥

(@) S & Y s Y A e § o A ¥

: "PGf—EE~2022 (Economics) Code-B
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o.
99.

According to the traditional theory of cost, which of the following is not | |

true :

(1) Average cost curve is always U-shaped

(2) Marginal cost curve is élwa‘ys U-shaped

(3) | Marginal cost curve is always upward sloping

(4) At the minimum average cost, average cost is equal to the marginal

cost

A O Rl & g B W@ A e

(1) NG A 9% SR SN W B I B BN HF B 8

(2) meaﬁaﬁaﬁaﬁw%g%w%@m%

(3) dFiT G @ SHN BN F T dear GO I Bl § |
@) e arE F T Brg W ol ara AR S S e B §

100.

The L-shaped cost curve is also known as :
(1) Lerner curve (2) Smith curve

(8) Schumpeter curve (4) Kuznet curve

ST A F T FER AR eﬂcb!(%qﬂ*idﬂ?ﬁﬂ%ﬁ?ﬁ%ﬂﬁﬁﬁ%?ﬁwm.
g7 -

(1) & ah ) g 3%
(3) gHIeX T @) FET T

S, L
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No.
1. Which of the following is not a component ‘of vicious cycle from demand

side |

(1) Incomé (2) | Savings

(3) Investment (4) Employment

Frefefae & -8 =X A 98 & e & e T8 eni ?

(1) e 2 d=d

(3) fFEsT.. . | (&) UASFAR
2. According to most of the theories, fall in share of employment in agriculture

indicates

(1) Crisisin agriculture

(2) Structural shifts related to development of the economy

(3) Mass unemployment

(4) Mass;'ufal poverty

R & TR R B omgER O AW § AR @ e A @ o
(1) &l § dhe & 8 |

@) orefore % M U geiad s qadRl B A

® o AT @ A

(4) = BEN T H OB
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Code-C
|Question Questions
~ No. .
3. Which of the following is not a component of human development index
| (1) Knowledge (2) Life expectancy
(3) Infant mortality (4) Standard ofliving
Preiffem 3. & A-1 o AT R e @ oR T D 7
1) TN @) uEiE sew eEly
O gmw @ ET wR
4. Human development index was first formulated in
(1) 1990 (2) 1970
(3) 1965 (4) 1995
T R G T P e 8 e R T o 7
(1) 1990 (2 1970
(3) 1965 | (4) 1995

For international comparison which of the following is considered a better
measure

(1) Comparing per capita incomes in US$ terms

(2) Comparing national incomes in US$ terms
(3) Comparing the government debt in PPP$ terms

(4) Comparing the per capita incomes in PPP$ terms

Wﬁiﬁq ol % [T SF-a 99 qed FeaX Ty e & 7

(1) i SR T af e S B g

@) ST SR F ST AR BT B

@) &% ot T A S H e w  qee e

@ R 9Re Tw A SR ¥ ofy @Re e @ ga s
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6. | The Unbalanced Growth Theory was given by
(1) Rosenstein Rodan (2) Hirschman
(3) Lewis | (4) Harrod and Domar
S e 1 Resr s grq R T s
(1) FTER VA @ =
(3) dR (4) ¥ R aR

7. Wh‘y the b..alénced growth is required iil the underdeyfaloped economies ?

(1) Due toindivisibilities in productilon
(2) Due toindivisibilities in demand
(3) Due toindivisibilities in supply of savings

(4) All of the above

TR S 3 P % B S P @ i o v ? 2
(1) wmﬁaﬁwwaﬁ%w | |

@) AT H ARSI & BT |

@) = B YT H SRR B BT

(@) IqlER a4

PG-EE-2022 (Economics) Code-C

(3)

LT e b e A e




Set—X
Code-C

Question
No.

Questions

'_8.

According to Lewis, the wages in the mddern sector are

(1) dJust equal to that of the traditional sector

.4(2) Greater by 30-35 per cent of the wages prevsiling in the traditional

sector -

(3) Greater by 50-60 per cent of the wages prevailing in the traditional
~ sector

(4) Greatgr by 10-15 per cent of the wages prevailing in the traditional
sector |

Qe B AR INgHH & § gl W

(1) IR & B AR B I @ e awET 2R S

(2) - TR B B T A X W 30-35 S S A 3
(8) IR & @ HOgd W & ¥ 50-60 AW @i A
(@) TR & @ el # A A 1016 TRiE o B

The concept of disguised unemployed refers to the workers
(1) Who are voluntarily unemployed

(2) Who are involuntarily unemployed

(8) Who db not add tototal demand

(4). Who do not add to total production

| BY USRI &l aren § B6 worgd @ @ o) 3 7

(1) - 5T % 3o &y § Sem o &

@ = B sffed &7 § e 2 §
() % Fa i ¥ B R TE
@ S g o @ e e
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10.

Below the critical minimum effort
(1) Spread effects are greater than the backwash effects

(2) Backwash effects are greater than the spread effects

(3) Negative externalities ave lower than the positive externalities

(4) There is too much government interference
TR TATH T S A A feeget W

(1) B T S S A a3 ¥

@ R ST e e a8 AN §

@) FOHH A GIIE SRl | B BN o
(4) TN BWAY 95 SART &l 8

11,

The concept of real per capita income means that

(1) Per capita income has been adjusted to the :‘mﬂatioﬁ rate
(2) Per capita income mir:us taxes

(3) Per capita income minus depr.eciation '

(4) Net profits of the production sector
ST Ry RE TR @ omewen @& ot § fR

() oy ofe o @ gEEAR X & e aHRinE #X R T R

(2) iy ARe o § ¥ 3 uer Ru o #
@) Uiy ks orme # ¥ R @ g Rar o @
@) TUET 8 & gE O™
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-1 No.
. — - (
- 12, Nation_al income is also known as : . i
(1). GDP at market prices (2) GNP at market prices | . :
| (3) GNP at factor prices | (4) - NNP at factor prices . « ]
| T o @ A W o R - ¢
W) IR A W e R IWE (
'(2)'.'w~qﬁqﬁwwm@aw | »
| @) e Bt % o s | - {
| @ W S W R v Z
13 | ’In an economy the value of multiplier is higher if (
| (1) Propensity to save is higher - | (
| (;‘3) - Propensity to 1nvest is higher , ¢
| (3) Propen_éity to coﬁsume is higher- «
.-(4) All of the_above | |
Rt ot vl ¥ T @ @ ot A ¥ err
D) =9 & Sgfa e &
@ Fas i mgha afte &
(3) IuArT B ugha el &
(4) SRR w0
PG-EE-2022 (Economics) Code-C -
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14.

The MPC is equal té APC, if
(1) The MPC is constant
(2) APCisatits minimum
(8) APCisatits maximum

(4) - MPCis at its maximum

(1) T @ di Rt e 3

(2) TTER A o R T g R
(3) STE A S TR o et W
(@) [T B A wEht o AT W8

15.

Autonomous investment means

(1) Aninvestment which grows automatically

(2) - Aninvestment which grows along with income
(3) Aninvestment which is independent of income

.(4) An investment which is independent of rate of interest

i Fer o 3 |
(1) T FRg o es on g €
@ U Ry S ot & WY 9o @
(3) T FRaw o e U ®
(4) e FEq S T W AT g 6

- PG-EE-2022 (Economics) Code-C
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(1) Household income

(2) Household consumption expenditure

() Government expenditure ‘

4) Investmggnt expenditure |
W,@W%WWWW%WWW%?
1) =g A F @) M AT & F
@ Wl ey @ Fay e F

Set-X
Code-C
Question | . Questions
~No.
16. The unemployment allowance by the government is counted in °

- 17,

The interest payments on foreign loans are counted i -

(1) Balance of payments on current account

(2) Balance of payments on capital account

(3) Both (1) and (2)

4) Nei-ther (1) nor (2)
ﬁ%sﬁ'w?q?ama%&wﬂﬁmﬁwﬁraﬁmﬁ?%?

D) TEE DGR WE @) O @ S g g §
@) (1) qr (2) 3R @ TITOTE @

- 18,

The effective demand necessarily refers tor
(1) - Actual demand:
(2) Desired deipand

(3) Aggregate demand just equal to aggre'g"ateysupply

(4) Demand at the level of full employment;
ST A R o e suw ek 32
(1) omw ®wT

(2) gifesa =i

@) AT H FW YK B R awmw a

@ T VIR @ Ry F Y ard =
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ngsfon Questions
"19. | IfMPC = MPS, then the . T

1) Zero @ One -

@) Two | (4) Infinite o

P TR AR e e A s T 3 e B A T

o REamr @ & & TR B R

@) A F TEL T B (4)@%@%@?11%

| 20.

An increase_ m tax may lead to

(1) Arightward shift in LM curve

2 A leftward shift in LM curve

@ A lefeward shift in IS curve

(4) A rightward shift in both IS and LM curve

B F Foad 8 §

(1) LM % &% % Rageh S

-(2) LM &5 9% o¥% Ra9s S &

(3) IS o IE % Rggsd o ©

(4) IS LM I & o5 o o Rges o &

PG-EE-2022 (Fconomics) Code-C
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Questions

| e

" Cross elasticity is defined as : '

(1) Percentage change in demand for X commodity due to percentage

change in income from Y commodity

(2) Percentage change in-demand of A consumer due fo percentage

change in income of B consumer

(3) Percentage change in demand for X commodity due to percentage

change in price of Y commodity.

(4) Percentage change in demand for X commodity due to percentage

change in price of X coﬁlmodity.

ma‘v’fﬁ@@amwf%

| @ Y ogq ommeeht ¥ ufierd qedielt & sBreer X gy @ A A ‘a?i’?f greft sftrer

REC]

(2) B ITAR & ome ¥ ufe TRl & HROT A IR Bt A B anet
RN GERNCE]

® Yﬁﬁﬁ%ﬁﬁ%ﬁﬁﬁﬁ%wxa@qﬁwﬁ@%wgﬁm
GECIKIE

(4) Xmﬁ%ﬁﬂﬁsﬁwﬁﬁ%wxa@aﬁﬁmﬁaﬁmﬁﬁﬁaﬁ

22,

The problem of séarcity and choice can be found in the definition by :

(1) AlfredMarshall -~ (2) Lionel Robbins

(3) dJ.A.Schumpeter (4) Adam Smith
SRl OIR GAE B wEr A = e A o § e § ?
(1) @ qe (2 ReRw TR

@) AT g @) wsH R
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23.

If the utility can nét be measured in.numbers, it is caﬂed
(1) Ordinal utility | |
(2) Cardinal utility

(8) Ordinary utility

(4) Optimum utility

FRE A A FH T T W AR AT AT

(1) HHIRE T
(2) TEHEES R

(8) HHNT qEITT

(4) 3 R

- 24,

Consumer surplus can be defined as :

(1) Difference of marginal utility and .price;

(2) Difference of marginal utility and total utility

(3) Difference of marginal utilit}; and average -utility
(4) All of the above

TR AT T A B

(1) dHE gEIeT 8 @i § W

(2) T T AT I AT H o=

(3) i g R e TR § eI

@) ST g9

PG-EE-2022 (Economics) Code-C
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25.

{ A consumer is in equilibrium where

(1) . The indifference curve is tangent to the price line
(2) The iﬁdifference curve is convex to the origin

(3) Both (1) and (2)

(4) None of the above

T ST el HgE B BT |

(1) SEHNT 6 ST Y@ B WA P

@) E@H%ﬁﬁ@zﬁmwaﬁf%

(3) TUUE (1) T4 (2) &

| @) o ¥ 2 ¢ %

26.

In case of the inferior goods, for a fall in price

(1) The price effect is negative due to negative income effect

(2)' The price effect 1s positive due to positive income effect
3 The prlce effect is negative due to negative substitution effect

(4) The price effect is positive as positive substitution effect is hlgher

than the negat:we income effect

aﬁma@eﬁ%mﬁﬁm%ﬁr{%ﬁ
1) 'Wuw%wéﬁ%wﬁ%wﬁmm%

-(Z)ﬂWﬁﬁmﬂa%aﬂmzﬁéﬁ%wﬁnaﬁmaﬂWém%
1 ® WW%W@%%WWQWQ%W@W%

(4) SO TG Emﬁf BRIl 7 GJTWEF?[ mﬂa ¥ T2 BN B P BN

| U R B 2

PG¥EE52022 (Economics) Code-C
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27.

The area between the ridge lines show :

(1) Positive marginal productivity Qf both the factors
(2) . Negative marginal productivity of both the factors
(3) Negative marginal productivity of factor on Y-axis

(4) Negative marginal productivity of factor on X-axis

Ret el & 99 @ 8

(1) W B O W SR S A 8

@ A wE & T A SR A
@) Y- TR W B AT A SR 3 S 2
(4_)' X-qU T T B FOTeT Qi Skl H G E

28.

In the long run, the returns to scale are increasing because

| (1) The production is experiencing only the economies of scale

(2) The production is experiencing only the diseconomies of scale

(8) The economies of scale are higher than the disecdnomies of 'scaie
(4) The diseconomies of scale are higher than the economies of scale
) v § T 3 R g R T8 ¥ ity -

(1) O ¥ R T A e A @ A

@ wER ¥ R Y @ s el @ @ ek

@) T & YR B ae P A e @ o A R

@) Wﬁﬁﬂﬁﬁaﬁiﬁﬁqﬁﬁmﬁaﬁ?ﬁéﬁ%

- PG-EE-2022 (Economics) Code-C
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1) Average cost curve is always U-shaped

| @ tﬁqﬁmwaﬁmﬂwqﬁmwgeﬂaaﬁém%
(@@ﬂam%wiﬁ@weﬂwwaﬁmawwam%

Set-X
Code-C
QHBSﬁOI_‘ Questions
No.
1. 29, According to the traditional theory of cost, which of the folldwing 1s not

true :

(2){ : ‘M_arginal cost curve is always U-shaped
3) Marginal cost curve is always upward sloping

'(4)- At the minimum average cost, average cost is equal to the marginal
~ cost

A D G RS B oga B9 6 o wd w3
(1) ST A A Ot W S g A eTeR w A
(2) MG A B e ol I & g & oTeR A o B

30,

187
| @O &k @ @ R @
8) YT 7% (4) FITic TH

The L-shaped cost curve is also known as -
(1) Lerner curve (2) Smith curve
(8) Schumpeter curve | (4) Kuznet curve

STIST W B T AT AR TR B A O o SR A Y T A S o o

PG-EE-2022 (Economics) Code-C
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31. A petal is to flower as
(1) Tyre - bicycle (2) Puppy - dog
(3) Salt - pepper (4) All of the above
S U UgE! B uy g ¥ 8, a0 |
(1) TR H aRERGT d (2) TRt % | |
(3) THF H Al P (4)@{‘1%6@-‘:1
| 32. Pointing towards a girl, A man said, “She is the daughter of onljr son of

my grandfather”. How is that man related to the girl ?
(1) Brother (2) Father
(3) Uncle- (4) Cousin

Q%ﬁ@ﬂ%ﬁﬂ?ﬂﬁ%&ﬁﬂﬂ%g&&ﬁ*ﬂﬁw‘ﬁrﬁ?qm% sm@t&?ﬁ‘%’f%ﬁ%’!
9 e T T B R H @R

(1) @ REr
(3) == S @ WU

- 33.

On what sum will the difference between the simple and the compound

interest for 3 years at 5 percent per annum amount to Rs. 24.40 2

(1) 2800 (2 3200 |

(3) 3500 | (4) 4200 -

B R 3 A B R 5 e oRy 9 @ o 9 EeRer R Rl s
Bl & H IR 24.40 T BFYT ?

(1) 2800 | (2) 3200

(3) 35600 (4) 4200

PG-EE-2022 (Economics) Code-C
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- 34,

o ‘-A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562

| T S 6500 BYT B W ?

for 5 consceutive months. How much sale must he have in the sixth month
so that he gets an average sale of Rs. 6500 ?

(1) 4991 @ 6503 -
@) 5543 . (@) 6235

Th T [ A W BT 6435 B, 6927 U, 6855 BT, 7230 F9T %
6562wﬁﬁaﬁm%:ﬁqﬁ%ﬁw&aﬁwﬁm@mﬁswﬁ

(1) 4991 (2) 6503
! (3) 5543 | (@) 6935
I 85.. | Inhow many ways, the Wofd ‘Success’ can be drranged
(1) - 4920 | (2) 420
(3) 490 (4) 920
@W%Q@‘Success’ﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁ@@ﬁﬁﬁﬂ%%?
(1) 4920 (2 420
.1 (). 490 o | (4)' 920
186, | [(38/8 % 14/2) - (2.5-0.8)32="7 .
W 24 @) 154
(3) 225 (4 278
[(3/8x14/2) + (2.5-0.8)]2=?
1 24 o 2) 154
@) 2.95 @ 278

PG-EE-2022 (Economics) Code-C
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- 87. Pankaj is in the East of Ram and Ram is in the North of Jagat. Mani is in

the South of Jagat then in which direction of Pankaj is Mani ?
(1) South-East = | (2) South-West
(3) South ' (4) North-East

Ww%gﬁm%aﬁrm W%Gﬁrﬁlmﬁw%ﬂmﬁ@a%a‘r
ﬁwaﬁ’rﬁmf&aﬂﬁwaﬂn?

(1) g @ ar-uidem
(3) - sl | @ S

| 88. | IfDELHI is written as WVOSR then GOA will be

' (1) HPB @ 1QC
(3) TLZ (4 AGH. _
3FR &% DELHI & WVOSR R @ GOA %1 3 forer s 7
(1) HPB @ 1QC
3) TLZ @) AGH

39,

A cube is coloured red on all faces. If it is divided in t0.64 small equal

sized cubes, then how many cubes will have three red faces
1 o 2) 4
3 6 4) 8

I @m@sﬁ%mmﬁww%%lwmmﬁwaﬁrﬁmﬁm

aﬁaﬁﬁmﬁmtﬁ%ﬁ#mﬁ@aéﬁ“
1 o | 2 4
(3) 6 - (4) 8

PG-EE-2022-(Economics) Code-C
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) Codewﬁzf
'Questi_ol_l ~Questions '
No,‘ e
IR
1 12 @ 7 i
@ 17 | (4) 49
logy7 (
log 7 | ¢
@ e @ 7
le o o 4) 49 ¢
41, | Which piaﬁ isknown as Mahalanobis plan £
() Firstplan | (2) Second plan {
(3) Fourthplan (4) Eighth plan C
Rt AT 1 AR AR AT @ Ry o 3 7
@ Wt g @ g doe (
| @ @ e (@) o ¢
427 | The initiation of Bios Feveleion & related with
(1) Thirdplan @) Fifth plan
(3) Seveﬁth plan 4) Ninth plan
Rl R B oo R Ao ¥ ey § 7
(V) T Fem @) uEd g
(3) Al Ao @) S g

PG-EE-2022 (Economics) Code-C
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(1) Third plan (2) Fifthplan
(8) Seventhplan (4 Ninthplan
B AT T Fe B TR S T g A 7
(1) R e 2) lﬁafﬁ o
(38) Wkl Frr @) T Aw

Code-C
Question Questions
. "No. .
43. Which period is termed as the ‘Plan Holiday’ ?
(1) 1947-50 (2) 1966-69
(3) 1990-92 (4) 2017 onwards
Ree T 1 AR B2 T B A oM X 7
(1) 1947-50 ‘ (2) 1966-69
(3) 1990-92 (4) 2017 % € o A
44, When did Niti Aayog came in to force ?
(1) 2010 2) 2015
(3) 2017 (4) 2014
HIRkT ST ¥ 9§ F F g B ?
(1) 2010 (2) 2015
(3) 2017 4 2014
45, Which plan-was launched with the slogah of ‘Garibi Hatao’

PG-EE-2022 (Economics) Codé-—C
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46,

2011 %1 SR 6 T ) SRR e g ey off ?

Which of the following had the highest population density in Census, 2011
(1)  Delhi | (2) Maharashtra
(8) West Bengal (4) Uttar Pradesh

(1) R&H | (2 W
(8) wRem s 4) ITW Ry

4.

(1) T Srraer & Redl @1 o

Sex ratio refers to .

1) Proport_ion of females in total population

) Number of females per thousand of population
(3) N umber of females per thousand of males

(4) Nu’mber of males per thousand of females

[T STqur &1 o ?

2) T R SEEr & 0% Rt @) e
8) wit &R w& % G Redi o P
(@) Ui R Rt & 9% wf 9 fe

O @

The Census 2011 wasthe ___ Naticnal Census Survey conducted by the
Census Orgamsatlon of India. '

(1) Tth (2) 15th
(3) 10th (4 11th

® WﬂT (4) e

m'-EE...zozz (Econonﬁcs)ﬁeodevc'
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49,

Demographic dividend means
(1) More of the males than the females -
(2) More of the elderly than children

(8) More of the working age population than the dependent population

(4) More of the adults than children
STHIfRDIE AT BT Fm ot § 7

(1) w&f % g oRal d SuEr 8

(2) ¢ & B g q AT F

(3) HFEHR &R B MR d @ ST A
(4) R AT H g= T SR el

50.

The demographic dividend window of India will be closed on
(1) 2022  (2). 2050

(3) 2055 (4) 2030

ARG %1 Sk e faed &9 o 8N & GHEA 7

(1) 2022 (2) 2050

(3) 2055 (4) 2030

51.

AT

_(-ﬁ'w".

5’ A d

Positive net exports lead to

(1) Arightward shift in aggregate supply
(2) Aleftward shift in aggregate supply
(3) Arightward shift in aggregate demand
(4) Aleftward shift in aggregate demand
el & oo qedel @

(1) H I R T s ol Y

@) T I IE A Raws ol B

(3) F A E T e SR 2

(4) T 9 IR TG Rowd S 2

PG-EE-2022 (Economics) Code-C
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(4 1/(1-MPS)

Code-C
Question Questions
No.
- 52, Ifthe total receipts are less than the total expenditure of the government,
the deficit is called
| (1) Fiscal deficit (2) Budget deficit: i
(8) Revenue deficit (4) Income deficit
Waﬁmﬁaﬁﬁqﬁmﬁmvﬁmﬁaﬁﬁwaeﬁw&ﬁwww%?
(1) TFRBINE ey (2) ST e
@) W ger (49 T g
- 53. The value of multiplier can be found by :

(1)» Changein investment/change in income

2) 1/.(1 —MPC)

T A A R B o @ A S v &2
(D) FEw ¥ qedid/ome 3 qee

® -

®) V@ % W g
(4)-1/(1-@6@@%;@%)
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54. In the short period the aggregate supply curve

(1) Canbe shifted to the rightward direction with help of the fixed factors |
only

(2) Can be shifted to the 11ghtwa1d direction with help of the variable
factors only

(3) Can be shifted to the rightward direction Wlth help of both the fixed
and the variable factors '

(4) Can not be shifted at all
NS T F i Ay |
R Rer e a1 Ser % <% i Radepran o waar @
2) Wwﬁaﬁqaﬂawmﬁwmmémf@wmww%
3) ﬁweﬁ?qﬁaﬁmﬁaﬁwﬁaﬁwaﬂﬁm@www%
(@) R & 78 R o v

55,

The intersection of aggregate supply and aggregate demand shows

(1) Full employment

(2) Equilibrium of the market

(3) Equilibrium of a firm

(4) Effective demand.
@Wﬁ'ﬁagﬁwqﬁ@ﬁmﬁm%?

1) P IR @) T F
3) B T A (4) Sl i

L]
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| 56.

In the theory of liquidity preference, the passive balances refer to

(1) Speculative demand for money

(2) Transaction demand for money

(3) Precautionary demand for money

| (@) Both (2) and (3)
_mww%%m%%ﬁwmmﬁ?
1) 9&1 & R aReed =i @

@ RT3 Ry B R A D
(3) wehwnl SR & g gEr @ A e
4 (@8R @) T

-~ BT,

Samuelson’s business cycles are based on

(1) The interaction of multiplier and accelerator

| @ Interaction of demand and supply

(8) " Elasticity of demand and supply

(4) Interaction of government expenditure and revenue

Gﬂwd % WX T B0 MER | AT S € ?
(1) T AR @ B ik |
@ i R H sk

@) R o B T B Rew A

@) o ST e g @ ofafe ¥

P
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58.

The dirty floating refers to

(1) Depreciation or appreciation of currency
(2) Devaluation or revaluation of currency
(38) Illegal exchange of currency

(4) None of the above

Tl oRecdeer & ot §

(1) T B T B e A GAR & S

@ FCH F gA § PEe 9 qeial B

(3) FTE F IR s § R B

@) I F QR N T

59. The theory of comparative advantage is originally n_amed after
(1) 38 Mill | () Bo Sodersten
. (38) Heckscher and Ohlin (4) Edgeworth
i JEAES A B RS ge: (e AW ST SR 3 ? |
1 ¥ w e @ ¥ eRd
( (3) WX IR SNEkM @ s
60. The incidence of an indi;ect tax falls on

(1) Producer (2) Consumer

(3) Wholesaler (4) Retailer

ST T H AR BhE qF U 87 |

(1) IFMEH W . @) SOl W

(3) o femen W (4) T faar ©

PG-EE-2022 (Economics) Code-C
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6L

In India the Planning Commission used to define the poverty line, mainly
on basis of

(1) Nutritional requirements

(2) Per capita income

(3) Monthly per capita consumption expenditure
(45 ‘Emplojrmént earhings $
e ST AT STEN T e F ge: R SEr W uRIe FRar o ?

| ) G e B R T
(2) Ui &ARH AFEH & IER W

(3) - Ui AR AR ST T & AR W
@) TR § W< STl & SR O

- 62,

When was MGNREGA launched in India ?

(1) February, 2005 (2) Tebruary, 2006 -
(3) February, 2004 (4) February, 2014
ARG A HIT HE A o

(1) HE, 2005 | (2) R, 2006

3) wET, 2004 (4) wad, 2014

63.

The unemployment rate refers to

(1)‘ Proportion of unemployed in total population
(2) Proportion of unemployed in total work force .
(8) Proportion of unemployed in total labour force
(4) Ratio of unemployed to employed

SRS &1 &Y 1 91 &

(1) %Y e § SN 1 ST

2) T FEE § AR B SR

3) A I F AUSFIRG 1 SO

(4) FHF IR ST VSR A& &L B ST

PG-EE-2022 (Economics) Code-C
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No.
64. During the last many labour force surveys, which state has the Iargésﬁ
unemployment rate among all the age groups ?
(1) Nagaland (2) Kerala
(3) West Bengal (4) Punjab
ﬁweﬁaﬁﬁwmﬁﬁﬁaﬁmﬁaﬂwmﬁamﬁ |
S |
(1) TS @
(3) uivem T 4) U
~ 65. The nutrition based poverty line for rural areas refers to the calories |
| consumptionlessthan
(1) 2400 calories - (2) 2100 calories
(8) 3500 calories 4) 1800 calories
e e ¢ omeRe Y a1 3 T Y et S & wudi & AR
R SN B 2 |
(1) 2400%ALT (2) 2100 RS
(8) 3500 &AL (4) 1800 @S
66. Who is known as the father of Indian green revolution ?
(1) Jawahar Lal Nehru (2) Swami Vivekanand
(3) - M.S. Swaminathan (4) N.E.Borlaug
wrdr 2Ra i @ R B J= o w7
(1) TR &S @) W@ EEET
(3) UH. TH. TR @) U 3. SRA

PG-EE-2022 (Economics) Code-C
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0.
- 67.

Initialiy the green revolution was concentrated in the states

(1) Punjab, Hary_ana and U.P. (2) Punjab, H.P. and U.P.

(3) Punj&b, Haryana and M.P. | (4) Haryana, HP.and U.P. -
LOIRT AR eR iy A § wodf 7 G o 2

(L) T, SRAET SR TR R () U, R Ry oK s Wy
(3). W, BRACT R AE Ry (@) 2Raen, R Ry O 9wt

" 68,

Trade and Qommerce (Promoi;:;iqr; and Facilitation) Bill, 2020 in the Indian
Parliament ?

(1) Narendra Modi (2) Narendra Tomar

(3) Kailash Choudhary (4) AmitShah

Whp introduced the Farmers (Empowerment and Protection) Agreement
on Price Assurance and Farm Services Bill, 2020 and Farmers’ Produce

WWﬁW%WSW@TWWﬁWW(HQ@ﬂW@T
) Wi o, 2020 SR BT @ e 3 amw @ g (sremr ok
Tgferd) T, 2020 a1 Bpw ¥ ?

O = @ =AW
'(3) YT ey @ g e
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| 69. ‘When agriculture was inclﬁded in WTO agreements ? .
| 1) 1995 (2) 2000
3) 2008 ' (4) 2010
Rieq SR e % WA A @d &9 A B9 S R T o ?
1) 1995 @ 2000
(3) 2005 @) 2010 ;
- 70. When NABARD came in to being ? |
(1) July, 1982 @) January, 1982
(3) January, 1985 (4) | February, 1985
TS B AR H AT ?
(1) SR, 1982 (2) e, 1982
(3) SHad, 1985 (4) W, 1985
71. If January 1, 1996, was Mondéy, what day of the Week 'was Jaﬁuary 1,

19977

(1) Tuesday | (2) Wednesday

(3) Sunday (4) Friday |

IR SEL 1, 1996 B HHAR & O SHad 1, 1997 1 &N a1 e 8 ?
(1)' HRIER (2) WX

(3) TR (4) TR

PG-EE-2022 (Economics) Code-C
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72. How many times, the hands of a clock cﬁincide in a day ?
(O 1 (2) 12
@ 22 4) 24
w BT ¥ O o A g e AR o e ¥ 7
@ 11 | @ 12
3) 22 4) 24
73, Including stoppages the speed of a busis 60 km/hr and excluding stoppages
: its speed is 80 km/hr. For how long the bus stops in an hour ?
(1) 20 min. | @) 15 min.
(3) 10 min. (4) 12min.
S-S TR W T a7 G B B R R A T 60 B /mer ol
e 1 T Neble § 80 Rp.. /aver s B 1 O g § 99 w9 & Ievg @
| e fe 8w ?
(1) " 20T . . @ 15fme
@ 10fme @ 12fFE
74, - | Aman completes a journey in 5 hours. He completes the first half of the

journey at a speed of 20 km/hr and the second half at a speed of 25 km/hr.
What is the total journey in km ?

(1) 5.4Km - 2 6.4Km
(3) 2.7Km 4) 82Km |
UH S U WWT 5 HVE § QU HG B 9% SE GWC Bl Ued ol R

zoﬁwﬁ/ava%%mﬁeﬁrmaw%wzmsrﬁ/wﬁwﬁrﬁw
H 8| I ol oA & g ww fea A ?

(1) " 5.4 5.4 | (@) 6.4 5.4
®3) 2.7%H. @) 3.2f54.
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No.
A brother is twice as old as her sister. If 10 years ago, the age of the

brother was 6 times the age of the sister, what is the present age of the
brother ?

(1) 25yrs (2) 20yrs
(3) 1b5yrs (4) ldyrs

T TSH B IH T T H IF B A [ ¥ [ IFR 10 SIS wameﬂaﬁr@ﬁeﬂ?ﬂ |
e @I IF &l B T ol | IEH qAA I FT e 7

(1) 254 2) 209
(3) 159 (4 149 A

76. Look at this series : 8, 43, 11, 41, _, 39, 17. What nﬁmber should ﬁll in B
the blank ? | . -
(1) 42 @) 8
@) 1 4 19
3 ol NEar § gl W WY ¢ 8,43, 11,41, _, 39, 17
1) 42 @ 8

| 3) 14 (4) 19
77. In a bag, there are 8 red, 7 yellow and 6 green balls. If one ball is picked

up at random, what is the probability that it is neither red nor green ?
1 12 @) 18 |
@) U3 | @ U7

U O § 8 9, 7ﬁeﬁmsaﬂﬁ%%swmwé@ﬁammﬁr
T EE § B A T 7 W 8 &R T 2h

1 12 @ 18
@) 13 @ 7

PG-EE-2022 (Economics) Code-C

(31)




. Set-X
Code-C

|Question| - Questions
No.
78. If all drink mixes are beverages; all beverages are drinkable and some

beverages are red, then which of the following is true ?
(1) All beverages are drink mixes
(2) All mixes are drinkable

(3) All red mixes are drinkable

(4) * All of the above

S 9 P S A T 6 9 41 o g9 T
'ﬁrﬁﬁrﬁ‘f@aﬁﬁﬂﬂr%aﬂaﬁ%%?

(1) TR 9 TER, T A ¥
(2) WY e, 99 9 e
@ A A P g A AR e
(). TR T

79,

A fort had provision of food for 150- men for 45 days. After 10 days, 25
men left the fort. The number of days for which the remaining food will

| last, is
(1) 42days \ (2) b4days
(8) 37.5days (4) 47.25days

s R & 150 IRRE 3 Riu 45 R @1 99 @ § 10 R 9 oPR 25 ol
Pl 915 30 = ST A ) 9 onePer & e a1 < e R SR 7

(1) 42f 2) b54f=
(3) 37.5RF : @) 47.25%
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30.

Fill the series 2, 4, 12, 48, 240, ..

(1) 430 (2) 720
3 960 4) 1440
<0 i HEe QU B 2, 4, 12,48, 240, ...
(1) " 480 @) . 720

(3) 960 (4) 1440

- 8L

Which of the following is true

(1) Total revenueis maximum when average revenue is maximum
(2) Total revenue is maximum when marginal revenue is maximum
(8) Total fev_enue is maximum when ax}erage revenue is minimum

(4) Total revenue is maximum when marginal revenue is zero
$3 R HA § F Fe-w B W B P

) §F TR T ot B ¥ o o s S @
() T o A ot St ¥ o A seed s &
3) @mwwm%m@wmwa

@) a@maﬁeﬁwﬁéﬁ%mwmwa |
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1 82,

3) Uﬁﬁmﬁ%ﬁ@fﬁ%wmaﬂwaﬂwaﬂmmﬁmﬁawmﬁ

At the break -even point :

(1) The firm is incurring losses but aver age revenue 1s greater than the
average variable cost

-

(2) The firm is incurring losses but average reverue is just equal to the
the average variable cost

(8) The firm is incurring losses but average revenue is lower than the
~average variable cost

(4) The firm is getting just equal to its total cost
Si-ga fg T

(1) FREE 3 <& B ¥ R o ofew enmen e sRedede a2
R Bt &

(2) FH JHAM 3T Y AN ¥ R Sw Slad e oivee dRadedier a3
R B R
FH BRil §
(@) TH W I F AW D R & IR W A <& B D

. 83.

(3) Infinite number of buyers (4) Selling cost

(1) gt s @ o i

Which of the following is not a feature of perfect competition ?

(1)  Perfect knowledge (2) Perfect mobility
e & & e O gEe @ qEer w8 e o ?

3) @ﬁmﬁﬁmm @ T arg
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84.

Which of the following is not true under perfect competition ?
(1) The firm is price taker

(2) Industry is price maker

(3) The firm can bear losses in the short term

(4) The firm always enjoy supernormal profits in the long run
R § 3 A B O TR % era wd Y 7
(1)- %4 e FrEiRer 8 B el

(2) FEN B FERer H 8

@) W B A T et e v e E

@) T g § % F oHI STRIERTT am éﬁ%‘

- 85.

Under the price discrimination of the first degree

(1) Whole of the consumer surplus is taken by the monopolist

(2) Only the marginal units of each group have zero consumer surplué
(3) The market is divided on basis of elasticity of _demand’

(4) All of the above |

TE T B B NS & T

1 Wﬁmﬁwﬁlﬂwgﬁaﬁmg@qaﬂ%

@) Rl o seen o # a9 g s @ G‘C{W Gﬁ%r%‘rﬂr BRI B
(3) gﬂwﬁﬁmﬁ@a%wwwﬁmﬂwﬁﬁaﬁaw%

4) S Gl
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.86,

Monopoly power is defined as

(1) (AR-MR)/AR @ 1-ARMR

| ® MrMC 4 MCMR

wﬁﬁ’sﬁﬁ%w%mﬁwﬁ%ﬁ?m@aﬁ%?
(1) (N ot ) /ol e

) 1o S TR /A e

@ W St A @

3 4 I A /A sy

87,

Excess capacity shows :
(1)- The difference of actual output and equilibrium output
(2) Difference of minimum and maximum output

(3) Difference of equilibrium output and minimum cost output

(4) None of the above

Bt & & ot amed 8% wror o wear 3 2
(1)‘46%@#@@@?@%%%?@

@) T AR o ST o b

(3j wmﬁmaﬂrwwmﬁwﬁwﬁ

@) I T A HE A g
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(1) Demand is more elastic for a rise in price
(2) - Demand is less elastic for a fall in price
(3) Both (1) and (2)

(4) Neither (1) nor (2)

SR ¥ Tioer (REE) AT a5 T avi & 7
(1) #FT & dg7 T A B T el &

@) FTT B ged ¥ A H TS Tedl ©

(3) () T (2) T

@ TIJQTEQ

Code-C
Question Questions
. No. _
88. A kink in demand curve under oligopoly shows that

89. | Asymmetric information refers to a situation when

(1) Nobody has the perfect information

(2) Everybody has the perfect information

(3) One party has the greater information than the other
(4) Noinformation at all |
IR I B 0H U6 Rl B ¢ oW

L) Bl & oft O 59 T Rl

2 T T aF e

(3) UH U B T § UET A B

(- 4) BE 9 GO SUAE T 8

PG-EE-2022 (Economics) Code-C
(37)

% s o7 TR o, Bt PR




Set-X
Code-C

Quéstion_
No.

Questions

1 90.

The innovation theory of profit was given by

(1) Hall and Hitch (2) Marshall

(3)- Cournot (4) Schumpeter ‘
T TAER R R 3 Ry e 7 )
(1) 2R Rw @ el § |
@) @A (9 g |

o1

When a market failure occurs due to the reason that the user of the
public resources do not pay for them, its called

(1) The problem of market structures

(2) The problem of fiscal deficit

(3) The free rider problem

(4). The hijacker problem

T A9 36 Y v B & i Bl o e @ sRn Y am 9§
S I 7T ORI T A S, o 3 A e o

(1) T B R g (2) TSN aR &

(@) TEEd # aren (4) Te-uE B

92,

A resource is called a renewable resource if
1) It can be replenished (2) It can not be reused

(3) It has become outdated  (4) Itisno longer in use in the economy

Rl Al e BT TN T FEl S e § SR
(1) I R B o @

(2) SEHR VIR IR T A T

@) o e [ 0 g A

(@) 9 W B Sl § @ e 7 @ 2
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93. Sustainable development refers to

(1) A constant rate of growth, for present generation

(2) A growth without government assistance for ﬁres_ent generation at

the cost of future generation

(3) Higher growth for future generation at the sacrifice of needs of the
' present generation

(4) A growth in present times without sacrificing the needs of the future |

generation

Hﬁﬁﬁ?ﬁrﬂiﬁf@ﬁ?ﬁ%
(1) I G & foo ue Rex e @t &t

(2) 9 & Gl H A W, ﬁslﬂﬁ{%t(ﬂ%ﬁalqdl%mﬂiﬁrﬂéaéﬂﬁtﬁﬁ |
% e faEE @ |

3) aﬁﬂﬁfﬂﬁﬁﬁwwm%wmﬁmﬁﬁﬁaﬁﬁqﬁ@ﬁ%%m'
e T [ & |

@) Wﬁ%ﬁwmw%mu%ﬁmaﬁaﬁﬂémﬁwﬁaﬁzﬁ
faere

- 94,

The UN conference on sustainable development is also known as

(1) Rio2000 ) Rio2010
3) Rio2012 (4) Rio2015
T e @ W UG W A S B AT R T A S S § 7
1) Rar2000 2 Rar2010
@) Rar2012 @) Rar2015

PG-EE-2022 (Economics) Code-C
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95. The Brundtland Commission Report referred to
(1) Industrial development  (2) Agricultural development
(3) Sustainable develé)pment (4) Trade and development .
S<aE HHIE B RO B ¥ wet 8 7
(1) e R 3 @ o S e
(3) - W R ¥ (4) PR &R frer d
| 96. When national income accounts incorporate the environment cost and
' ‘natural resources, it is termed as
(1) Social accounting (2) Grey accounting
(3) Sustainable acéounting (4 Greenaccounting
S T SR S8 A R B e S g St A e R s
8, T g8 T w8 7
(1) TR EiE (2) W qEE
(3)  God e (4) ERa wEE
97. The envirénmellt-I{HZHet curve is
(1) U-shaped (2) Upward sloping
(3) Downward sloping (4) Inverted U-shaped

cgoﬁd%qqiqw:a'sﬁlﬂwwém%?
O Ok T & g S @) W H A el gon
@) ¥ @ W FREr gen (4) I 9O & F H I
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" 98. The recognition of the close link betwéen an organisation’s decisions and
their impact on the natural environment 1s called
(1) Global env1ronment (2) Greenmg of management
(3) Social responsfblhty (4) None of the above
WW%W@WW@M@W@%WW&&%WW@
R A A R ST g 7 |
(1) aPas qaiEre ‘ @) Ve & Efae (FrEmEd)
(3) Wi Rl (@) T @ PE @
. 99. Which of the following phenomenon is associated with global warming
(1) Southern oscillations (2) El Ni:qo
(3) LaNina (4) ElNino Modoki
Pretfofs & 3 A @ we AP I @ W 2 7
1) R B FR-TEE @ T A
(3) @r (4) T AR A
| 100. When did the Forest Conservation Act_ came in to force in Tndia
(1) 25 October, 1986 ) 25 October, 1980
~| (8) 25 October, 1972 (4) 25 October, 1990

R ¥ g HOOT AR B A g
(1) 25X, 1986 (2) 25 REEN, 1980
(3) 25 IR, 1972 (4) 25 9HSR, 1990
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Questions

1.

Which of the following is true

(1) Total revenue is maximum when average revenue is maximum

(2) Total revenue is maximum when marginal revenue 18 mammum '
(3) Total revenue is maximum when average revenue is minimum

(4) Total revenue is maximum when marginal revenue 1s Zero

9 Ru R ¥ § B e W T 7

(1) wmwmm%m@mmma
@) wmwmm%mwmma
3) @mwmm%m@mﬁeﬂnﬁwa

(4) mmmmﬁ%mwmwa
At the break-even point :

(1) The firm is incurring losses but average revenue is greater than the
average variable cost

(2) The firm is incurring losses but average revenue is just equal to the
the average variable cost

(3) The firm is incurring losses but average revenue is lower than the |
average variable cost

(4) The firm is getting just equal to its total cost

ST g W

) wwwﬁﬁ%wmmwﬁﬂaqﬁaﬁﬁsﬂawﬁ |
3T B B

(@) ﬁw%ﬁaﬁ%wwﬁeﬂmm@mqﬁaﬁmﬂam%

ET B B

) ﬁwﬁ%@aﬁ%wmeﬂﬂameﬁﬂaqﬁaﬂmﬁawﬁ
FH BRI 2
@) FH B T F cu*lq%weuéamﬁwéﬁ‘é’réﬁf%
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Y

Which of the following is not a feature of perfect competition ?
(1) * Perfect knowledge (2) Perfect mobility
(3) Infinite number of buyers (4) Selling cost

il § & -1 gof g B aEer T we o ? -

@O ot aw | 2) T iR
(3) ElERt P o we @ o

Which of the following is not true under perfect competition ?
(1) The firm is price taker
(2) Industry is price maker

(3) The firm can bear losses in the short term

| 4} The firm always enjoy supernormal profits in the long run

ﬁﬁ?ﬁr‘fﬁaﬁﬁéﬁ?—wmﬁwwﬁ%wmﬁ%?
() w4 Fma Faier @ s g

(2 SAT P P e 2

3) B B 92 T F efe el e v ¥
(4 T T B B AW AEERT w o ¥

Under the price discrimination of the first degree

(1) Whole of the consimer surplus is taken by the monopolist

(2) Only the marginal units of each group have zero consumer sur plus
(3) The market is divided on basis of elasticity of demand

(4) All of the above

tl?:%?r & % Fig A & oita

(1) Tl ol @ qof ol ey S B

) Wﬁwwﬁmﬁqﬁwﬁwwﬁmﬁqm%

(3) g&wﬁﬁwa&aﬁa%aﬂmwﬁﬁmmﬁﬁwm%

(4) SRiga gt

PraN

PG-EE 2022 (Econormcs) Code-D
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6i

Monopoly power is defined as

(1) (AR—MRYAR (@ 1-ARMR

3) MRMC 4 MC/MR

P o & T B R Bt B A A W T S 7
(1) (oTFer Treesi-Eimic SFeet ) /eled ST

@) 1- o el /A STHEs

@) i e /dn s

(4) WA SR/ ST

Excess capacity shows:

(1) - The difference of actual output and equilibrium output -

(2) Difference of minimum and maximum output

.(3) Difference of equilibrium output and minimum cost output
(4) None of the above |

Brt & & ofoiem weed &% 7 S we ©

(1) TR AR Ha 9 FURT B AR 3

(2) e ST SRHT SO B IR A

(3) TS A IR SR AT T T I § S @

(4) ST ° A BB A
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: - B,

| Akinkin demand curve under oligopoly shows that

(1) Demand is more elastic for a rise in price

(2) Demand is less elastic for a fall in price

| 3) " Both (1) and (2)
{ (4) Neither (1) nor (2)

SR 7 Tfear (RedY) #i o aar qufar @ 7
(1) H F T W AT B T qwh
(2) FFT B TeN § G P qEE Ted B

B (1) 7 ()
@ TaA@DTH ©

Asymmetricinformation refers to a situation when

(1) * Nobody has the perfect information
(2) Everybody has the perfect information

| (8) One party has the greater information than the other

| 4 N.o information. at all

Wﬁﬁﬁ@ﬂﬂﬂ@ﬁ?ﬁﬁﬂ%ﬁ@ﬁ?ﬁ%w
@ I AN TR
@) 9@ O FE A

| B) U W W TR W SR 5 8

(@) % 9 gET SwE 7 @
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Question Questions
No.
10. The innovation theory of profit was given by

(1) Hall and Hitch (@) Marshall

(3) Cournot (4) Schumpeter

T H EER e e A R v

(1) & R RE | (2) e |
(8) A @ iR A
11. A petal is to flower as
| (1) Tyre - bicycle (2) Puppy - dog
(3) Salt - pepper (4) Aﬂl of the above
S s Tgd & e G 4, 99
(1) TR & 9EEEed & (2) T @ o«
@) T # E (4)3@[3168‘3%
12. Pointing towards a girl, A man said, “She is the daughter of only son of

my grandfather”. How is that man related to the girl ?
(1) Brother (2) Father
(3) Uncle (4) Cousin

*wmﬁﬁwg&maﬂﬁ@aﬁtﬁ%w‘a‘rﬁ?qm%swm@r‘hﬁéﬁ%’
A ol 99 we H Red § A o e ?

1) 9% @) far
(3) = (4) =T

‘. PG-EE-2022 (Economics) Code-D

L

(5)




Set-X ¢

Code-D

Qﬁ;ﬁlon Questions ¢
13. | On what sum will the difference between the simple and the compéul}d ¢
interest for 3 years at 5 percent per annum amount to Rs. 24.40 7 ¢
(1) 2800 - (2) 3200 ¢

(8) 3500 (4) 4200 - ¢
T @ R 9 3t B R 5 ot s A o o e R R |

P G F I 24.40 B BW ,

(1) - 2800 ' (2) 3200 ¢

3) 3500 4) 4200 ¢

" 14. - | Agrocer haé a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562
for 5 consecutive months. How much sale must he have in the sixth month

so that he gets an average sale of Rs. 6500 ?
| @ 4991 | 2) 6503
(8) 5543 - (4) 6235

e 9 febar O HEN AT 6435 BUT, 6927 UL, 6855 BIT, 7230 HIY AR
6562 TUT F [E FXar 31 B "E ¥ Sud fsR g e @ifRe afe Sue

£
¢

| oira Rl 6500 BaT & ST ? - ¢
(1) - 4991 | (2) 6503 :
(3) 5543 (4) 6235

'~ 15. In how many ways, the word ‘Success’ can be arranged

(1) 4920 (2) 420
(3) 490 . ) 920 B
N F U= Success' BN B R a4 oo R o @b ¥ 7 |
(1) 4920 @ 420
(3) 490 4) 920 :

PG;EE—_ZOZZ (Economics) Code-D
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16.

[(3/8 x 14/2) + (2.5 0.8)]2=?
(1) 24 @) 154
(3) 2.25 | @) 2.78

[(3/8 x 14/2) + (2.5~ 0.8)]2="?

1) 24 () 154
(3)- 2.25. 4) 278 |
17. Pankaj is in the East of Ram and Ram is in the North of J agat. Mani is in
the South of Jagat then in which direction of Pankaj is Mani ?
(1) South-East | (2) South-West
(3) South (4) North-East
Ww%géﬁw%aﬁrw,w%mﬁlﬁw%Wﬁw%ﬁr |
94 e @l R Rem § @ e ?
(1) sRERge (2) cRr-ukEm
@ @) S
18. If DELHI is written as WVOSR then GOA will be
(1) HPB 2) 1QC
| ® Tz @ AGH |
3R &1 DELHI & WVOSR it & GOA & 33 feren smar ?
(1) HPB . @ IQC
@) TLZ (4) AGH

PG~EE—2022 (Economics) Code-D
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'ngii?n Questions c
| 19. | A cube is coloured red on all faces. If it is divided in to 64 small equal '
sized cubes, then how many cubes will have three red faces 4
-
(1) 0 2) 4 ¢
® 6 - @ 8 ¢
(
WWW%W@WW%%IWWG4@%QUWdt'-bs{ffcuc‘.ﬁlﬂ
S, §F b S TS % O IR A e ? | ¢
A é;
1) o 2 4 {,
3 6 (4) 8 {
. log7 o :
: | 20. log7 4
[
1) 172 . @ 7 (
®) U7 4) 49 <
C
log+7 _o €
log7- ‘ __
og ’
(1) 172 @) 7 €
¢ -
@) 17 @) 49 m
' .y
£
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21.

on basis of

(1) Nutritional requirements

(2) Per capita income

(8) Monthly per capita consumption expenditure

(4) Employment earnings

(1) 96 T&@ b SAER T

@) i IR AME & X W

@) 9 @fs Teaw SuA g % SR W
(4) TR q Ot STl & SR WX

In India the Planning Commission used to define the poverty line, mainly

YRGBT AT TR TR e @ ge: B omaR o aRia B A 7

99,

When was MGNREGA launched in India ?
QO | February, 2005
(3) February, 2004
aRa § AT FE YE A T o 7

(1) wRad, 2005 (2) WEdl, 2006
(3) W, 2004 (4) &R, 2014

(2) February, 2006
(4) February, 2014

23.

1 SF & T ar e &

The unemployment rate refers to

(1) Proportion of unemployed in total population
(2) Proportion of unemployed in total work force
(3) Proportion of unemployed in total labour force
(4) Ratio of unemployed to employed

(1) FHa TEE § SR & STgu

@) FA BEEH § EART F I

(3) T FHE F SRR H S

(4) FF IR AR TSR I &0 Bl ST

PG-EX-2022 (Economics) Code-D
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Question Questions ¢
No,
_ 24 ' During' the last many labour force survej*s, which state has the largest | )
‘ unemployment rate among all the age groups ? €
(1) - Nagaland : _ (2)° Kerala _ -
(3) West Bengal (4) Punjab - |
'ﬁ@ﬁﬁwﬁwﬁﬁweﬂwﬁﬁ%ﬁﬁwqﬁmﬂﬁﬁﬂw@
R § 7
1) e (@ W L
| @) uEm @ e
25, The nutrition based poverty line for rural areas refers to the calories({
| consumption less than
(1) 2400 calories | (2) - 2100 calories R
(3) * 8500 calories (4) 1800 calories .
WW@WMW%@@H%@W%@W% T & U & 9= )
P o ® 7 ‘
(1) 2400350 @) 21003
() 3500FaT (4) 1800 FHaieT
26. Who is known as the father of Indian green revolution ?
. f
(1) Jawahar Lal Nehru (2) Swami Vivekanand
| 8) M.S. Swaminathan ~ (4) N.E.Borlaug
ﬂTR‘cﬁa BRa il @ iﬁama el WA ST § 7
(1) SORER W5& (2 @l EEEs
(8) . TH. WHFEH 4) . 3. IR
. . _ ‘i‘,
PG-EE-2022 (Economics) Code-D (.
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27,

Initially the green revolution was conceﬁtg:ated in the states

(1) Punjab, Haryana and UP. (2) Punjab, H.P.and U.P.

3) Punjab, Haryana and M.P. (4) Haryana, H.P.and U.P.

el A% A gt A A A T G A 7

(1) e, B R ST R (2) U, R SR G BT R
3) deE, eRaen &R W R (4 sRa, %maan%sew?r{wn%m

28.

Who introduced the Farmers (Empowerment and Protection) Agreement
on1 Price Assurance and Farm Services Bill, 2020 and Farmers’ Produce
Trade and Commerce (Promotion and Facilitation) Bill, 2020 in the Indian
Parliament ? '

(1) Narendra Modi (2) Narendra Tomar

(3) KailashChoudhary  (4) - Amit Shah

i GeE & Rre i onedren AR Reae el a R (T )
) e R, 2020 AR REET H ST & K iR (g X
wgferd) for, 2020 A9 f6T 3 7

1) TE Rl @) TE am

(3) ST WA @) T B

29,

When agriculture was included in WTO agreements ?

(1) 1995 @ 2000

(3) 2005 (4) 2010

Ry 2R @ & a9 o S A e R T ?
(1) 1995 (2) 2000

(3) 2005 (4) 2010

{ | - PG-EE-2022 (Economics) Code-D
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- No. _ V
3b; - When NABARD came in to being ? {'
) (1) - July, 1982 @) January, 1982 (
~(8). January, 1985 (4) Pebruary, 1985 ¢
e &e AT J T ? - (
(1) - 9FE, 1982 (2) S, 1982 | ¢
@) “FEd, 1985 (@) wEd, 1985 )
31, ‘When a market failure occurs due tb the reason that the user of the {?V
public resources do not pay for them, its called
‘ ¢

(1) The problem of market structures
(2) The problem of fiscal deficit
(8) The free rider problem . K
(4} The hijacker problem |

s A9 5 Rie R e ¥ s R EISE AT A SRAE BT 9 @
ERT 96 oA O T Re S, @ g 0 el e

(1) Ao & T P G @) e | & W

A

£y

ey
i

(3) RN @ TR (4) TE-UT W FHE
32, | Aresource is called a renewable resource if
(1) It can be replenished (2y Tt can not be reused

(3) It has become outdated (4) Itisnolonger in usein the economy ¢
Ree <t TN & SO e FEr o gl ¢ eFR
(1) ST e A S |

2) TEH N FEE A A o W

3) A WEH GO IS G &
(@) o9 E # orefeme § #8 g A WA

PG-EE-2022 (Economics) Code-D ¢
o (12) |
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Code-D
Question Questions
No.
Sustainable development refers to

(1) A constant rate of growth, for present generation

(2) A growth without government assistance for present generation at

the cost of future generation

(3) Higher growth for future gener.atio_n' at the sacrifice of needs of the |
~present generation

(4) A growth in present times without sacrificing the needs of the future

generation

o foee & oord 3

(1) T 9 $ fow o Rex fae @ @

@) ﬂﬁmﬁfﬁ@ﬁm%ﬁﬂﬂmwﬁrHsiqq:q?m‘%fﬁﬁﬁﬂﬁqﬁ-ﬁlﬁ
o e fwm

@) T GG B e B e @ o @ O T e B G 3 R
gy % M &

@) s & G @ SreRal & @ & RET el 9 T adam o ) ol |

[ 84.-

The UN conference on sustainable development is also known as

(1) Rio 2000 (2) Rio2010

(3) Rio2012 4) Rio2015

Wﬁwlﬁﬁwwwﬁﬁmﬁ@wmmﬁww%?'
(1) Rar2000 @) R&2010 |
('3)lﬁ1ﬁ2012‘ @) RA2015

PG-EE-2022 (Economics) Code-D
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| 35 The Brundtland Commission Report referred to
(1) Industrial ldeveloprr'lent | (2) Agricultural development -
(8) Sustainable development (4) Trade and deveiopment _
 sets aher @ RAY By @ T 3 7
(1) e e 9 @ T P few A -
(3) e e @ (@) =R SR fE A ¢
36. Whén national incéme accounts incorporate the environment cost and -
natural resources, it is fermed as (
(1) Social accounting (2) Grey accounting
(3) Sustainable accounting (4) Green accounting |
W I S A AT H AT e?chbqw Wﬁﬁ&ﬂﬁﬁmw!
R, W w8 l
(1), IR e @ ®amE s‘.
(3) T e (@ R FEE \
.37 . | The eﬁvironment-Kuznet curve 1s ‘ 5‘“.:‘ |
(€)) U-éhaped (2) Upward sloping %!
(8) Downward sloping (4) Inverted U-shaped Z]
FTE B ARRYT @ AR F A B 7 l
(1) SERR A % g S @) T H W oA g 11
3) i ® PR gen (4) aﬁ%ﬁwa‘samm 25
PG-EE-2022 (Economics) Code-D - a
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Qu;stion Questions
0.

38.

The recognition of the close link between an organisation’s decisions and
their impact on the natural environment is called

(1) Global environment (2) Greening of management |
(3) Social responsibility (4) None of the abovel

WW%W%WW@%&@W@%WWW&WW@
iRl BTy AW R s ¥ 7

1) AP FgfaRer (2) T H B ()
@ e R @) T B G
39. Which of the following phenoﬂienon is associated with global warming
(1) Southern oscillations ) ElNino |
(3) LaNina (4) FEl Nino Modoki
b & #1 6 ge Yo aw ¥ aheg @ 7
(1) R $ IAX-TeE (2) T |
3) W = @ AR AR
: 40 When did the Forest Conservation Act came in to force in India

(1) 25 October, 1986 | '(2) 25 October, 1980

- (3) 25 October, 1972 (4) 25 October, 1990

RA A A we afEd B e g ?
(1) 25 3T, 1986 (2) 25 ST, 1980
(3) 25 SR, 1972 (4) 25 IR, 1990

' PG-EE-2022 (Economics) Code-D
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42,

If the total receipts are less than the total expenditure of the government,
the deficit is called

(1) Fiscal deficit () Budget deficit

(3) Ré;z‘e;nue deficit (4) Income deficit

o S S ) e T R A A R A o S ?
(1) TN e (2) ST e

(3) TS My (4) STHEST =

PG;EE¢2022 (BEconomics) Code-D
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Code-D ©
Question Questions ff-w
No.
o g“:'
41. Positive net exports lead to B
(1) Arightward shift in aggregate supply ¢
(2) Aleftward shiftin aggregate supply - €
(8) Arightward shift in aggregate demand (
{
(4) Aleftward shift in aggregate demand ‘
RECRECICIE R e Cr
1) % O 5w Regs o 2
@) T Y I T Rews o B ‘
(8) % T T R o S ¢
| €.
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Set-X

Codewa
Question Questions i
Np.
The value of multiplier can be found by :

(1) . Change in investment/change in income |
() 1(1-MPC) |

(3) 1MPC

(4) 1/(1-MPS) |

T T R R o & A on s @ 7
O M ¥ qadel o § aedd

(2) 1 - 379 G i

®) V/(SUSEFT i wia agh)

@) V(- 999 & 997 wRy)

44,

In the short period the aggregate supply curve

(1) Canbe shifted to the rightward direction with he.lp of the fixed factors
only ' |

(2) Can be shifted to the rightward dlrectlon with help of the variable
factors only

(3) Can be shifted to the rightward direction with help of both the ﬁxéd
and the variable factors

(4) Can not be shifted at all

9 TG 7 gt a P

(1) o Re o it s ¢ @ ol Remmar o wam 2

@) R oRecivshier mem B wer B A R o R 3

(3) ﬁmﬁrﬁaﬁq&ﬁaﬁmﬁaﬁwwmﬁmf@ﬂwmm%

(4) R & 78 g o ikl

é.:«&)G;EE"ZOZZ (Economics) Code-D
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45. The intersection of aggregate supply and aggregate demand shows

i
%

(1) Full employment

(2) * Equilibrium of the market

(8) Equilibrium of a firm , p
(4) Effective demand | ' i
FA AN AR G YRS F ieredE @ g g 7 BE
O T AR | 2) ‘:F’??I H T J
@) FEEl ®H @ wge @) uwE T

. {16.’_ | In the theory of liquidity preference? the passive balances refer to ; -

(1) . Speculative demand for money

® Tranéaction demand for money

(3) Precautionary demand for money

(4) Both (2) and (3)

e qwee e ¥ arftpnsa s gl B ?
(1) T % ‘r’i‘m g AT @

| @ aﬁéﬁ%eiaa%mgmaﬁrqmﬁ

@) weRmR St & R g A A

W OIFeT

" PG-EE-2022 (Economics) Code-D
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- 47.

Samuelson’s business cycles are based on

(1) The interaction of multiplier and accelerator

(2) Interaction of demand and supply

(3) - Elasticity of demand and supply

(4) Interaction of government expenditure and revenue

ST & AR 65 50 SER T ST o9 § 7
1) TR AR @F B iR 9

(2) Wi AR YR B o @

@) = &R o # @ B Raw A

(4) W AT T T B s

. 48.

The dirty floating refers to
(1) Depreciation or appreciation of currency
(2) Devaluation or revaluation of currency

(3) Illegal exchange of currency

(4) None of the above

ell TREaAdier & oot @

Q) T D TA H T A GER & S

2 FH & 9 H PREe a1 9o He
3) T @ ErH al ¥ RFEE B
4) - IF § | Pig ff T

- PG-EE-2022 (Economics)iCodemD

(19)
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1) J4.8.Mil (2) Bo Sodersten

3) Heckscher and Ohlin ~ (4) Edgeworth
»-meﬁamwﬁm%mﬁww%? -
@ SowEEE @) o WS |

i Code-D,
" |Question Questions
No.
49, The theory of comparative advantage is originally named after

{
| | @ @RI AR @ '
T 50. | The incidence of an indirect tax falls on {j

1 (1) Producer (2) Consumer {I

(3) Wholesaler (4) Retailer | {l
STTE Y B R R Ul § 7 eil'
(1) IMEF T @) ST W |

(3) o FeRdm T - (4) TO T W §|

1 61 The concept of real per capita income means that |
| ('1) _Per capita income has been adjusted to the inflation rate ¢
(2) Per capita income minus taxes | ¢

(8) Per capita income minus depreciation {

(4) Net profits of the production sector ¢
T Ry RE o @ emeen & o R . 'él____l

| @) wfr o ot @ R w B R wrEie B R e ¢

| @) vt =ie ot & & % uer Re T E ¢
(3)%%&1?5@%‘4’[3?%%1&‘65}?[%%@% ¢

(4) SURA & F I A K

PG-EE-2022 (Economics) Code-D
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52. National income is also known as

P

o

5,

(1) GDP at market prices (2) GNP at market prices

(3) GNP ét factor prices (4). NNP at factor prices

st ot @ g8 o el I 2
(1) TSI AT O TR R I

(2) TER HEG W T TR AR

3) GEF B W EHA T TG
() TF BEG W A T SR

53.

In an economy the value of multiplier is higher if
(1) Propensity to save is higher

(2) | Propensity to invest is higher

(8) Propensity to consume ‘is higher

(4) * All of the above

Rl & rergEn § T B 0 o 8 § R
O it uglha oiitRs 8l

@ PR % wh ofs &

(3) ITRT A vER o @

@) SN qfl

- PG-EE-2022 (Economics) Code-D
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1. No. A
54; 'The MPC is equal to APC, if {J[
| (1) The MPC is constant {I |
() APCisatits minimum ) ~ €|
(38) APCisatits maxiﬁum {ft _
(4) MPCis at its maximum gl
| S A i g g A o R B T A B o (
(1) . o ) i gy Ree 3 {;
@ wﬂv'aﬁ_ﬁm‘n@ﬁmww% éi
(3) TUHRT & ot TR ot S W R | eil
@) QU T sgfy o erfymed ax R 53
55. Aﬁtonomous iﬁvestmént means i;
(1) Aninvestment which grows automatically éi
(2)- Aninvestment which grows along with income él
(3) Aninvestment which is independent of income i]
(4~ An investment which is independent of rate of interest ii
wEfe FeY @ oot B g]
(1) ¥ PR S oIy g wwer g
@ X FAY S o & @ e ¥ |
(3) U Faw S e § 9 8 e,;:
@ T Nay S = @ g 8 ¢
¢

PG-EE-2022 (Economics) Code-D
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56.

The unemployment allowance by the government is counted in :

(1) Household income

(2) Household consumption expendlture

(3) Government expenditure

(4) Investment expenditure
wmﬁmwéﬁaﬁrwﬁmﬁa@aﬁmm%?
(1) =G e H (2) HE I T H
@) e T ] @) s & o

- 57,

The interest payments on forelgn loans are counted n:

(1) . Balance of payments on current account

(2) Balance of payments on capital account

(3) Both (1) and (2)

(4) Neither (1) nor (2)

el ol T = B s R ot @) oy © 7 .
) TG TS TR W (@) O wR B e a9 §
3) (L) J (2) 3= @ TAOITHQ

58,

The effective demand necessarily refers to

(1) Actual demand

(2) Desired demand )

(3} Aggregate demand just equal to aggregate supply
(4) Demand at the level of full employment
Wmﬁmmaﬁms&wmﬁ%?

(1) omd qi

@) aifsa =

3) Wmmwgﬁ%ﬁwwm

4) gﬁﬁwaﬁﬁaﬁrﬁﬂ%mﬁm

PG-EE-2022 (Economics) Code-D
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Question Questions ¢
'No. ‘ ¢
T59. | 1fMPC = MPS, then the value of multiplier s ;
(1) Zero (2) One .

8) Two 4) TInfinite J_ | {

SR JUEAT 1 i Ry e @ A dgi $ et B QP @ ge 6

() RpTdme 2) TF P IO B 8 B

@ VI WMWY (4) o A 3

.. 60, An increase in tax may lead to ¢
(1) Arightward shift in LM cuxve (

(@ Aleftward shift in LM curve ¢

3 A leftwgrd shift in IS curve {

4) | A rightward shift in both IS and LM curve 'S

T T A A
() LM a6 & @ fags o o c.

2 LM %5 98 T Rgass S o ¢

@) IS @% 9% W6 faes o 8

|  (4) IseﬁrLMﬁﬁamm%mmw% ‘
61. - | Which of the following is not a component of vicious cycle from demand |
side -

(1) Tncome (2) Savings

(3) Investment (4) Employment (

Friofen o 9 - 9 A o & GEm @ oem T8 e !

(1) el (2) = ¢

@ Faw 4 W
PG-EE-2022 (Economics) Code-D ¢
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J No.

| 69. According to most of the theories, fall in share of employment in agriculture
t ' indicates |

fl (1) Crisisin agricutlture

l oo (2) Structural shifts related to development of the 'economy

{J (3) Mass unemployment

|

I (4) Mass rural poverty

5-| R & sgat Rierl & oER O & § A @ e PR @ o R
] ) & H gwe o am

H

(2)_&@@%%5%&@%6@%@%%%

|

) | |

él_ (3) @UH FUSTIA & B

§| (4) ZUE B TS H OB

{l 623. Which of the following is not a component of human development indeg
{] (1) Knowlgdge (2) Life expectancy

%: (3) Infant mortality (4) Sténdard of iving

g‘l R § & - =% o R qeis @ o T 2
g |

é! (1) 79 (2) TERE e ofafy

]l @ Ry 7g @ SET ®R

£

( PG-EE-2022 (Fconomics) Code-D
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64, Human development index was first formulated in (J
(1) 1890 (2) 1970 gl |

(3) 1965 | 4) 1995 - 5;

MG foeer e o gew Rhd W § g R e o | i‘

| @ 1990 @ 197 éJ

{3) 1965 | (4) 1995 ‘ J

65. ' qu internaj:ional comparison which of the following is considered a bettefi:
measurg o gl

1) Coinpa;ring per capita incomes in USS terms {i

@ Comiaalring r;at_iongl_ incomes in US$ terms jl

(3) Comparing the governﬁnent debt in PPP$ terms {l

(4) Comparing the per capita incomes in PPP$ terms Ql

RIS T & R PF-61 A9 W69 e} 9T ST § 7 | i«l

() ot ST | Uiy Re ermes Hge B |

(2) R S H AT e A B z

(3)' G{E AIRh T A SR F ERe Bt B e B z:

(@) @7 9t W A SR A R 2R R 3 ge B |

- PG-EE-2022 (Economics) Code-D
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No.
66. The Unbalanced Growt;h Theory was given by
(1) Rosenstein Rodan (2) Hitschman
(3) -LeWis (4) Harrod and Domar
SR R T R R E R T R 7
(1) AGTEH e | (2) sdEA
(3) (@ e A IW
67. '

Why the balanced growth is required in the underdeveloped economies. ?
(1) - Due to.indivisibilities in production
(2) Due toindivisibilities in demand

(3) Due toindivisibilities in supply of savings

(4) All of the above

TR serel & fem & fog dgh e @ A S ved & 7

(1) SEREA ¥ SqeorEl & HRe

‘ @) " SRS B BT

(3) ﬁaaﬁgﬁﬁaﬁwﬁ%w'
@) I TR

R

PG-EE-2022 (Economics) Code-D
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According to Lewis, the wages in the modern sector are

(1) Just equal to that of the traditional sector |
(2) Greater by 30-35 per cent of the wages prevailing in the traditional

-

sector
(3) Greater by 50-60 per cent of the wages prevailing in the traditional
sector ‘

(4) Greater by 10-15 per cent of the wages prevailing in the traditional

sector -

T B STER MgF & 7§ ARl @ W

1) RS B B TSl @ I B fHagd SRE el @

(2) URER® & B gl B 30-35 UfgeR aiftes 2 &
(3) Wﬁ%%ﬁﬁqﬂg‘&aﬁﬂﬁm-eowﬁwmaﬁ%
(4) IRERE B B A W W W 10-15 s o il

69.

The concept of disguised unemployed refers to the workers
(1). Who are voluntarily unemployed

(2) Who are involuntarily unemployed

(8) Who do not add to total demand

(4) Who do not add to total production

BY B SR B e F B Aol A SR 7 7

(1) S gfed w0 A A A € |

@) 5 ffed & F SR & ©

Q) B g AW A BB fww T @

(@ o B g S 8 9 e T TR

PG-EE-2022 (Economics) Code-D
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(4) There is too much government interference
TR AaH T & A g e W

(1) %o qE e g9E 8 98 B &

(2) R U9 Sad I9E € 92 89 8

(3) T IR g RISl § &9 SN ©
(4) WS TEAY IET EI Bl 8

(1) Spread effects are greater than the backwash effects
(2) Backwash effects are greater than the spread effeé_:té- :

(3) Negative externalities are lower than the positi\}e externalities

Code-D
Question Questions
No.
70. Below the critical minimum effort

71. Which plan is known as Mahalanobis plan
(1) Firstplan (2) Second plan
(3) Fourthplan (4) FKighthplan
fre QST 1 ARl A B A A R o @ 7
(1) el AT @ T e
(3) W AE (4) el A

72, The initiation of ‘Blue Revolution’ is related with

| (1) Third plan ) Fifthplan
"(3) Seventhplan (4) Ninthplan

Al i B YEAT e Ao @ w8 7
(1) A A (2) - dierdt AR
(3) Wl TS (4) dt FEn

 PG-EE-2022 (Economics) Code-D “
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73 Which period is termed as the ‘Plan Holidéy’ ? :
(1) 1947-50 . (2) 1966-69 '
(3) 199092 (4) 2017 onwards |
R T ) Ao gel' & BT A S § 7 [
(1) - 1947-50 (@) 1966-69 l
(3 199092 (4) 2017% 9% 1 T si‘ft
| 7 4 When did Niti Aayog came in to force ? I
(1)' 2010 . @) 2015
(3) 2017 (4) 2014 )
(1) 2010 (2) 2015 §|
(3) 2017 | (4 2014
| 75. | Which plag‘_Was launched with the slogan of ‘Garibi Hatao’ £
(1) Third plan 2) Fifthplan I
(3) Seventhplan (4) Ninthplan l
| B Ao T g $ A % e e A |
) dR A @ TR A |
(3). ®Rl Ao (4) e qorn :

PG-EE-2022 (Economics) Code-D
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76.

Which of the following had the highest population density in Census, 2011
(1) Delh1 (2) Maharashtra

(3) West Bengal | (4) Uttar Pradesh

2011 & ST H Red W @ SEed] Qe G Sy o ?

(1) fell @) wemrg

77

(3) Uf¥E™ S 4) IR IRA
Sex ratio refers to |

(1) | Proportion of females in total population
(2) Number of females per thousand of population
(3) Number of females per thousand of males
(4) Number of males per thousand of females
R oo &1 oY @

(1) % Saen § feat @ ergue

@ R B SEE B 99 Red @ el

(3). Ui BoIR W=l & d® Rerll o R

(4) 97 =) REm & 9B W&o Fe

78.

The Census 2011 was the National Census Survey conducted by the
Census Organisation of Ihdia.

(1) Tth (2) 15th

(8) 10th (4) 11th

2011 Bl SFOFI, IR SFCHT S % B 1 A SEOFT Faae e
q 7 ‘ |
() wEE | @) dgeEar

(3) Il (4) Tl

PG-EE-2022 (Economics) Code-D
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79

Demographic dividend means
(1) More of the males than the females
(2) More of the elderly than children

(3) More of the working age populatibn than the dependent population

(4). More of the adults than children

ST TTiST T Ry o7 § 7

1) =& @ den Ongt 4 SRy g

'(2) g8 @R H ge 9 s R
(3) FHHET W @ et A s Rl
(4) ST AR BT S W SR B

80.

The demographic dividend window of India will be closed on
(1) 2022 (2) 2050
(3) 2055 (4) 2030

ARG & SHIbDE T sl &9 9= 8 @ g9ee B ¢

(1) 2022 (2) 2050

(3)' 2055 | (4) 2030

PG-EE-2022 (Economics) Code-D

(32)

ﬁ-"?»} oy, EaiaN «m‘a

N

£y



Set—-X
Code-D

_ |Question
-No.

Questions

81.

‘Cross elasticity is defined as:

(1) Percentage change in demand for X commodity due to percentage

change in income from Y commodity

(2) Percentage change in demand of A consumer due to percentage

change in income of B consumer

(8) Percentage change in demand for X commodity due to percentage
~ change in price of Y commodity.

(4) Percentage change in demand for X commodity due to p:'ércentage
change in price of X commodity.

s o Rt v o ¥

(1) Y 7 & e ¥ ot qadel & e X awg @ A § 3% ad oo
GEEK] |

) Bw%ﬁamﬁﬁqﬁﬁﬁaaﬁﬁﬁ%WAwﬁaﬁwﬁéﬁaﬁﬁ
SINNNIGEE

(3) Ya@ﬁﬁw-ﬁmsmmﬁ%'mwquﬁﬁﬁﬁ@ﬁwﬁmﬁ%
REEH '

@ X g5 & B 7 g qEaien § SO X a%) @ AN § 2 arl S
SEEIR]

RN

The problem of scarcity and choice can be found in the definition by : |

(1) Alfred Marshall (2) Lionel Robbins

(3 J.A. Schumpeter 4) Adam Smith
A AR IE B EE S i & e fewd § 7
(1) ke A9 Q) ferieer dis=g

3) T gefiex 4) weH Rmy
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83. If the utility can not be measured in numbers, it is called )

| (1) Ordinal utility {
(2)_ Cardinal utility (

'(3) Ordinary utility {

(4) Optimum utility Z

IR B TR & HH § T AT G o 59 D W AW &d © ° /

(1) S T {

@) Hers g

) T g (
| @ T R ¢

.' 84, | ',C'onsumer. surplus can be defined as®: ¢
- (1) Difference of marginal utility and price %
(2) Difference of marginal utility and total utility ¢

(3) Difference of marginal utility and average utility ¢

(4) All of the above 4

S SR o ¥

| @ Simig gEer o Hvm ¥ o ¢

(2) Wi g SfX e g § ern

(@ d g ol el AT ¥ o

@) ST a9 C
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85. A consumer is in equilibrium where

(1) The indifference curve is tangent t_d fche price line -
(2) 'fhe indifference curve is convex to the origin

(3 Both (1) and (2) |

(4) None of the above

T ST T TG SR wT o

() S T B Y @ a

(2) TN 9% To g PTG IO e 8

(3) SRR (1) F (2) TN

(4) ST d ¥ B T

- 86. | In case of the inferior goods, for a fall in price

| (1) - The price effect is negative due to negative income effect

(2) The price effect is positive due to positive income effect

(8) The price effect is negative due to negative substitution effect

(4) The price effect 1s positive as positive substitution effect is higher

than the negative income effect
e gt & R e B )
(1) N SO B ROE AN B BRT B I RO o 3
(2) T U & UAIEE B B RO B O f qNI R0 ©
(3) EFITIAT U9 % ROTCHH B & RO AT UWE A RO B 8

(4) YFTEF WG] J9E 0TS STE Hed § F91 8N & PR A
Y9 N Bl 8
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. 87. | The area between the ridge lines show : .
(1) Positive marginal productivity of both the factors :
(2) Negative marginal productivity of both the facters Z
(3? Negative marginal productivity of factor on Y-axis {:
\ ‘(4.) Negaﬁve marginal productivity of factor on X-axis é
Rer Yt 3 i @ o {
(1) 2R AR H e S s @ e 3 ¢
(2) N el @ RO Wi SR B avr ¢
(3 Y-9X a1 W N FOTES G SR @ i (
@ X-gX 9% G B RoTeEd QT Sara B ot £
88. In the long run, the returns to scale are increésing because ¢
(1) The production is.experiencing only the economies of scale {
(2) The pr'oduction is experiencing only the diseconomies of scale ¢
(3). The economies of scale are higher than the disecohomies of scale {
(4) The diseconomies of scale are higher than the economies of scale {
o W e @@ R aed ¥ iy - s
(1) ST 7 R U @ o eI & T ond ¥ ¢
2 TR ¥ R Y A e o @ @ A ¥ ¢
(3) S ¥ YA B e Y et ¥ o A ¥ e
@) o R A e A e A o A ¥
‘ - . €
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89.

According to the traditional theory of cost, which of the following is not
true :

(1) Average cost curve is always U-shaped
(2) Marginal cost curve is always U-shaped
(8) Marginal cost curve is always upward sloping

(4) Atthe minimum average cost, average cost is equal to the marginal
cost

A % JOoH RSl & oER S O I el T8 B

(1) ST S sk sHeT HISH I F g P TR I ek &
(2) HHRT AR 6 EHAT SIS A F G B BT P B 2
(3) @qﬁﬁmwﬁmmwaﬁdwqwg&ﬂwm?

(4) SET A & A o W ol aFe ofR Wi @ aXEk 2 R

90..

27

The L-shaped cost curve is also known as :
(1) Lerner curve (2) Smith curve
(3) Schumpeter curve (4) Kuznet curve

SIS AT U S a1 SHN B S @ Bl AR B Y A A o S S

(1) TXFH 2) e am
(3) griiex o= | (4) FEC o6
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91, | If _January 1, 1996; was Monday, what day of the week was January 1,
19977 '
(1) Tuesday (2) Wednesday
3) Sunday (4) Friday
TR Sl 1, 1996 W THAR & &l S 1, 1997@2{%’?@1%%?
(1) TEER @) TR
® WER (@) IR
92. How many times, the hands of a clock coincide in a day ?
| 1 1 | @) 12
@) 22 | 4) 24
o R ¥ 991 @ O T el AR o ¥ emad ¥ 7
1) 11 @) 12
3) 22 4) 24
Includmg stoppages the speed of a bus is 60 km/hr and excluding stoppages

its speed is 80 km/hr. For how long the bus stops in an hour ?
(1) 20min. () 15min.
(3) 10 min. (4) 12min.

- TR W e @ G R ¢ R 3w TR 60 BB /aver &
X 1 T P § 80 5. /v &l B | O Hoe H 99 99 % I H
T e BT ?

(1) 20 @) 15
®) 10 e 4) 12 FFe
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94, A man complefes a journey in 5 hours. He completes the first half of the
journey at a speed of 20 km/hr and the second halfat a speed of 25 km/hr.
What is the total journey in km ?

(1) 5.4Km (2) 6.4Km

3) 2.7Km , 4) 3.2Km .
T SAH UH R 5 A0 A [ AW B 9% W AHT A EW o R
20 6.3 /ave1 & fow & iR gEw emen R 25 R, mver @ 0y A Ry
B B 1S9 ST B AL F g g B 2R ? :

1) 5.4, 2) 6.4fF.H.

3) 2.7 .. 4) 3.2f .

95. A brother is twice as old as her sister. If 10 years ago, the age of the
brother was 6 times the age of the sister, what is the present age of the
brother ?

(1) 25yrs (2) 20yrs
(3) 15vyrs (4) l4yrs
T 5% B IH AT T&T W A & 1 R 10 T W IR 9 o
T H T A 8 A A | IE a7 T IR 2
(1) 259 2y 209
3 15%@ 4 147 |
. 96. Look at this series : 8, 43, 11, 41, __, 39, 17. What number should fill in
| the blank ? :
-(1) 42 2 8
@ 14 (4) 19
T % AT T E WE W 8, 43, 11, 41, 39, 17
(1) 42 @ 8
3) 14 (4) 19

- PG-EE-2022 (Economics) Code-D
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beverages are red, then which of the following is true ?
(1)- All beverages are drink mixes

(2) All mixes are drinkable

(8) All red mixes are drinkable

(4_) All of ﬁhe above

e Y s S et &, R ¥ et 9 A 6 ol s Y w4,
a1 frefafeg & @ W 99 o o 7 |

Q) "R % g, 3 BT 2 3
@ T P, 9 A AR 3
(@) TR T e O A Ba Q
4) IR T
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: 97 . In a bag, thei'é are 8 red, 7 jzellow and 6 green balls. If one ball is picked
up at random, what is the probability that it is neither red nor green ?
(1) 172 (2) 18
@ 113 @ 17
w X s, 7W@Rﬁﬁﬂﬁ%|eméﬂﬁawﬁwﬁammﬁr )
www%ﬁsﬁﬁaﬁwéaﬂwwﬁ? ¢
@ 12 @ 18 {
3). 1/3 - @ 1
- 98. - If all drink mixes are beverages; all beverages are drinkable and some |
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99. A fort had provision of food for 150 men for 45 days. After 10 days, 25
men left the fort. The number of days for which the remaining food will
last, 1s
(1) 42days (2) b4days
(3) 37.5days (4) 47.25days
T R 150 STRIHAl & RIY 45 R F1 A9 1@ § 10 B S8 SRR 25 oA
e BIE T 9o S o 9 o SRRl 3 Riw aed e R R ge 7
(1) 42R @) B4RS
@) 37.5%A (4) 47.25%F

100.

Ifill the series 2, 4, 12, 48, 240, .....

(1) 480 @) 720

(3) %0 @) 1440
0 3F YT BW B 2, 4, 12, 48, 240, ...,
(1) 480 (2) 720

(3) 960 (4) 1440
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ANSWER KEYS OF ECONOMICS FOR SESSION 2022-23

Q. NO. A B o D
1 3 3~ 3 4
2 2 2~ 2 2
3 1 3~ 3 4
4 1 i 1 4
5 3 1- 4 1
6 4 3Fa 2 1
7 1 1~ 4 3
8 3 2~ 2 3
9 3 1~ 4 3
10 1 1~ 2 4
11 4 3~ 1 1
12 2 1”7 4 1
13 4 4~ 3 2
14 4 3~ 1 1
15 1 3- 3 2
16 1 3~ 3 1
17 3 4 1 2
18 3 2~ 3 3
19 3 2~ 3 4
20 4 2- 3 1
21 1 2~ 3 3
22 4 3.~ 2 2
23 3 2~ 1 3
24 1 1~ 1 1
25 3 1- 3 1
26 3 3~ 4 3
27 1 37 1 1
28 3 3- 3 2
29 3 1- 3 1
30 3 4~ 1 1
31 3 4 -~ 1 3
32 2 2 - 1 1
33 2 4~ 2 4
34 4 4~ 1 3
35 4 1- 2 3
36 1 - 1 3
37 1 3~ 2 4
38 2 3~ 3 2
39 3 3~ 4 2
40 2 4 1 2
41 3 1~ 2 3
42 2 1~ 3 2
43 3 2= 2 2
44 1 1- 2 4
45 4 2- 2 4
46 2 1- 1 1
a7 4 27 3 1
48 2 37 2 2
49 4 4/ 3 3
50 2 1/ 3 2

2b\8\ v K6 }o\

T2t
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ANSWER KEYS OF ECONOMICS FOR SESSION 2022-23

Q. NO. A B c D
51 3 2~ 3 1
52 1 3~ 2 4
53 4 2 - 2 3
54 3 27 4 1
55 3 2~ 4 3
56 3 1- 1 3
57 4 3~ 1 1
58 2 Pl 2 3
59 2 3~ 3 3
60 2 3. 2 3
61 2 3 -~ 3 3
62 3 2 -~ 2 2
63 2 2 -~ 3 3
64 2 4 ~ 1 1
65 2 4 ~ 1 4
66 1 1.~ 3 2
67 3 1~ 1 4
68 2 2~ 2 2
69 3 3~ 1 4
70 3 27 1 2
71 3 3~ 2 2
72 2 2 3 3
73 3 3~ 2 2
74 1 = 1 2
75 1 4~ 1 2
76 3 27 3 1
77 1 4~ 3 3
78 2 2~ 3 2
79 1 47 1 3
80 1 27 4 3
81 2 1- 4 3

2 3 4 - 2 2
83 2 3~ 4 1
84 1 17 4 1
85 1 37 1 3
86 3 3~ 1 4
87 3 1.~ 3 1
88 3 3~ 3 3
89 1 37 3 3
90 4 37 4 1
91 1 3 3 2
92 1 27 1 3
93 2 1~ 4 2
94 1 1~ 3 1
95 2 3~ 3 1
96 1 4~ 3 3
97 2 e 4 3
98 3 37 2 3
99 4 3~ 2 1
100 1 17 2 4

%J\,\,\/-& \‘Q"ﬂ‘“ O:;{,g\i 1L

28] 22
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